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1. What is the original piece of metal commonly referred to as? 
ö£õxÁõPU SÔ¨¤h¨£k® E÷»õPzvß A\À xsk GßÚ? 

(A) Filler metal (B) Base metal 

 {μ¨¦ E÷»õP®  Ai¨£øh E÷»õP® 

(C) Welding machine (D) Welding rod 
 £ØÓøÁ¨¦ C¯¢vμ®  öÁÀi[ P®¤ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. What is the process of using an electrode with a continuous wire
feed to produce a weld?  
J¸ öÁÀm u¯õ›UP öuõhºa]¯õÚ P®¤ Fmhzxhß J¸ G»Um÷μõøh 
£¯ß£kzx® ö\¯À•øÓ GßÚ? 

(A) Gas metal arc welding  
 ÷Pì ö©mhÀ BºU öÁÀi[  

(B) Gas Tungsten arc welding 

 ÷Pì h[ìhß BºU öÁÀi[   

(C) Resistance welding 
 ªßuøh öÁÀi[  

(D) Shielded metal arc welding 
 PÁ\ E÷»õP BºU öÁÀi[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. What is the advantage of plasma arc welding over shielded metal
arc welding?  
PÁ\ E÷»õP BºU öÁÀi[øP Âh ¤Íõì©õ BºU öÁÀi[Qß |ßø©PÒ 
GßÚ? 

(A) Reduced heat input 
 SøÓUP¨£mh öÁ¨£ EÒÏk  

(B) Improved weld quality 

 ÷©®£kzu¨£mh öÁÀk uμ® 

(C) Deep penetration 
 BÇ©õÚ Fk¸ÁÀ  

(D) Reduced fumes and odors 
 SøÓUP¨£mh ¦øP ©ØÖ® |õØÓ[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

4. What is the function of the flash in flash butt welding? 
L¨Íõè £m öÁÀi[QÀ L¤Íõæß ö\¯À£õk GßÚ? 

(A) To apply pressure 
 AÊzu® öPõkUP  

(B) To generate a high temperature and pressure 

 E¯º öÁ¨£{ø»ø¯ E¸ÁõUQ ©ØÖ® AÊzu® öPõkzx   

(C) To remove impurities 
 A_zu[PøÍ }USÁuØS  

(D) To provide a source of heat 
 öÁ¨£ Buõμzøu ÁÇ[SÁuØPõP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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5. What is the primary factor to consider when selecting a nazzle for
gas welding?  
G›Áõ² öÁÀi[QØS J¸ •øÚ ÷uº¢öukUS® ÷£õx P¸zvÀ öPõÒÍ 
÷Ási¯ •ußø© Põμo GßÚ? 

(A) Thickness of the work piece 
 £o¨£Sv°ß ui©ÚõÚ AÍÄ  

(B) The type of gas used 

 £¯ß£kzu¨£k® Áõ² ÁøP   

(C) The operator’s skill level 
 B£÷μmh›ß vÓß {ø»  

(D) The length of workpiece 
 £o¨£Sv°ß }Í AÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

6. What type of gas is commonly used for gas cutting? 
÷Pì Pmi[ ö\´ÁuØS ö£õxÁõP G¢u ÁøP¯õÚ Áõ² 
£¯ß£kzu¨£kQÓx? 

(A) Propane (B) Nitrogen 

 ¦÷μõ¨÷£ß  ø|mμáß 

(C) Argon (D) Acetylene 
 BºPõß  A]mi¼ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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7. Which welding is used in grey cast iron? 
\õ®£À Áõº¨¤¸®¤À G¢u öÁÀi[ £¯ß£kzu¨£kQÓx? 

(A) Arc welding (B) Gas welding 

 BºU öÁÀi[  ÷Pì öÁÀi[ 

(C) TIG welding (D) MIG welding 
 TIG öÁÀi[  MIG öÁÀi[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

8. Why should a welder clothes be free from oil or greese while arc
welding? 
BºU öÁÀi[ ö\´²® ÷£õx öÁÀhº BøhPÒ Hß Gsön´ AÀ»x 
QŸì CÀ»õ©À C¸UP ÷Ásk®? 

(A) To protect the job  
 ÷Áø»ø¯ £õxPõUP 

(B) To avoid catching the fire 

 w ¤i¨£øuz uÂºUP   

(C) To protect the eye 
 PsPøÍ £õxPõUP  

(D) To protect the broken injury 
 Eøh¢u Põ¯zøu £õxPõUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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9. Which is the treatment given to a person affected by accident on the
spot? 
\®£Á Chzv÷»÷¯ Â£zuõÀ £õvUP¨£mh |£¸US GßÚ ]Qaø\ AÎUP 
÷Ásk®? 

(A) First treatment (B) First Aid 

 •uÀ ]Qaø\  •u¾uÂ 

(C) Go to hospital (D) Second aid 
 ©¸zxÁ©øÚ ö\À¾uÀ  Cμshõ® ]Qaø\ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

10. Which of the following gases in commonly used in gas regulator and
is known for using left-hand threads? 
¤ßÁ¸® Áõ²UPÎÀ Gx ö£õxÁõP ÷Pì öμS÷»mh›À 
£¯ß£kzu¨£kQÓx ©ØÖ® Chx øP ©øμPøÍ £¯ß£kzxÁuõP 
AÔ¯¨£kQÓx? 

(A) Acetylene (B) Oxygen 

 A]mi½ß  BUêáß 

(C) Hydrogen (D) Propane 
 øímμáß  ¦÷μõ÷£ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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11. What is the use of blow pipe in gas welding? 
÷Pì öÁÀi[QÀ J¸ ¦÷Íõ ø£¨ GuØS £¯ß£kzu¨£kQÓx? 

(A) To provide a flame for welding  
 öÁÀi[QØS ¤÷Íø© HØ£kzu   

(B) To blow out slag and impurities  
 P\k ©ØÖ® A_zu[PøÍ öÁÎ÷¯ØÖÁuØS 

(C) To direct the shielding gas  
 PÁ\ Áõ²øÁ C¯USÁuØS   

(D) To cool the weld area 
 öÁÀk £Svø¯ SÎºÂUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

12. What is the use in chipping helmet? 
]¨¤[ öíÀö©m £¯ß£kzu¨£kÁx GuØS? 

(A) To protect the eyes from UV radiation  

 ¦Ó Fuõ PvºÃa]¼¸¢x PsPøÍ¨ £õxPõUP   

(B) To protect the eyes from slag removing  
 ]»õU _zu® ö\´²® ÷£õx PsPøÍ¨ £õxPõUP 

(C) To improve the visibility of the welding process  
 öÁÀi[ ö\¯À•øÓ°ß £õºøÁø¯ ÷©®£kzu   

(D) To reduce the risk of head injury 
 uø»Põ¯® HØ£k® A£õ¯zøuU SøÓUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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13. What is the purpose of the nozzle tip in a gas welding torch? 
÷Pì öÁÀi[ hõºa]À |õ]À •øÚ°ß ÷|õUP® GßÚ? 

(A) To direct the flame  

 L¤÷Íø© E¸ÁõUSÁuØS   

(B) To increase air pressure 
 PõØÓÊzuzøu AvP›UP 

(C) To mix fuel and oxygen  
 G›ö£õ¸Ò ©ØÖ® BUêáøÚ P»UP   

(D) To reduce noise 
 \zuzøu SøÓUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

14. What is the primary function of gas welding torch? 
÷Pì öÁÀi[ hõºa]ß •ußø© ö\¯À£õk GßÚ? 

(A) To cool the workpiece  

 £o¨£Svø¯ SÎºÂUP   

(B) To apply a protective clothing  
 J¸ £õxPõ¨¦ §a_ Âsn¨¤UP 

(C) To generate a gas shield  
 G›Áõ² PÁ\zøu E¸ÁõUP   

(D) To produce a high temperature flame 
 AvP öÁ¨£{ø» _høμ E¸ÁõUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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15. What is the primary purpose of an earth clamp in arc welding? 
BºU öÁÀi[QÀ Gºz QÍõ®¤ß •ußø© ÷|õUP® GßÚ? 

(A) To generate a high-voltage spark  

 E¯º ªßÚÊzu w¨ö£õÔø¯ E¸ÁõUP   

(B) To shield the arc from the surrounding environment  
 _ØÖa`Ç¼À C¸¢x ÂøÍøÁ¨ £õxPõUP 

(C) To connect the welding table  
 öÁÀi[ ÷©ø\²hß CønUP   

(D) To connect the welding machine 
 öÁÀi[ C¯¢vμzvÀ CønUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

16. Which type of protective should you use to prevent burns and sparks 
from welding? 
öÁÀi[Q¼¸¢x wUPõ¯[PÒ ©ØÖ® w¨ö£õÔPøÍz ukUP G¢u ÁøP¯õÚ 
£õxPõ¨¦ \õuÚ® £¯ß£kzu  ÷Ásk®? 

(A) Safety gaggles and a face shield  

 £õxPõ¨¦ Psnõi ©ØÖ® •PPÁ\®   

(B) Earplugs and a hard hat  
 PõuoPÒ ©ØÖ® PiÚ©õÚ öuõ¨¤ 

(C) Safety glasses and a lab coat  
 £õxPõ¨¦ PsnõiPÒ ©ØÖ® B´ÁP ÷Põm   

(D) Work gloves and a long-sleeve shirt 
 ÷Áø» øP²øÓPÒ ©ØÖ® J¸ }sh øP \møh 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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17. What is the primary factor that effects the penetration of SMAW
(Shielded Metal Arc Welding)? 
SMAW °À E÷»õPzvß Fk¸Á¾US EuÄ® •ußø©¯õÚ Põμo 
GßÚ? 

(A) Welding speed and technique  

 öÁÀi[ ÷ÁP® ©ØÖ® ~m£®   

(B) Electrode size and shape  
 G»Um÷μõk AÍÄ ©ØÖ® ÁiÁ® 

(C) Welding current and voltage  
 öÁÀi[ ªß÷Úõmh® ©ØÖ® ªßÚÊzu®   

(D) Shielding gas flow rate 
 ÷Ph¯ Áõ² Kmh ÂQu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

18. Which colour is suitable for welding booth? 
öÁÀi[ §zxUS G¢u {Ó® ö£õ¸zu©õÚx? 

(A) Black (B) Red 

 P¸¨¦  ]Á¨¦ 

(C) White (D) Blue 
 öÁÒøÍ  }»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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19. How should in the welding Area? 
öÁÀi[ ö\´²® Ch® GÆÁõÖ C¸UP ÷Ásk®? 

(A) Short space (B) Without light 

 SÖQ¯ Ch®  öÁÎa\® CÀ»õ©À 

(C) With greese and oil (D) Air circulation 
 QŸì ©ØÖ® B°¾hß  PõØ÷Óõmh©õP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

20. What precaution you will follow in welding to avoid fire accidents? 
w Â£zx HØ£hõ©À C¸UP GßÚ •ßöÚa\›UøP ö\´¯ ÷Ásk®? 

(A) Keep away the inflammable materials  

 GÎvÀ w¨£ØÓUTi¯ ö£õ¸mPøÍ APØÓÄ®   

(B) Keep fire extinguisher  
 w Aøn¨£õßPøÍ øÁUPÄ® 

(C) Keep sand bucket near  
 ÁõÎ°À ©nÀ øÁUPÄ®   

(D) Alert to go away 
 A¢u Chzv¼¸¢x Â»PÄ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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21. What is the principle behind ultrasonic testing? 
AÀmμõ÷\õÛU ÷\õuøÚ°ß öPõÒøP GßÚ? 

(A) Reflection of light  

 JÎø¯ GvöμõÎUP   

(B) Sound waves transmission and reflection  
 J¼ Aø»PøÍ AÝ¨¦uÀ/PhzxuÀ ©ØÖ® ¤μv£¼¨¦ 

(C) Magnetic field disruption   
 Põ¢u Aø»PÎÚõÀ uh[PÀ HØ£kuÀ   

(D) Heat transfer   
 öÁ¨£zøu PhzxuÀ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

22. What type of sound would you expect to hear during a stethoscopic
test on a defect-free weld metal?  
SøÓ£õk CÀ»õu öÁÀm E÷»õPzvÀ ìöhuõì÷Põ¤U £›÷\õuøÚ°ß 
÷£õx G¢u ÁøP¯õÚ J¼ø¯ }[PÒ ÷PmP»õ®? 

(A) A dull thud (B) A high-pitched squeak  
 ©¢u©õÚ \zu®  J¸ E¯μ©õÚ \zu® 

(C) A clear ringing note (D) A hissing sound  
 öuÎÁõÚ ›[U SÔ¨¦  J¸ îìê[ \zu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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23. In magnetic particle testing, what is the purpose of a
magnetometer? 
Põ¢u xPÒ ÷\õuøÚ°À, Põ¢u©õÛ°ß ÷|õUP® GßÚ? 

(A) To measure magnetic field strength  

 Põ¢u¨¦» Á¼ø©ø¯ AÍÂh   

(B) To assess material thickness  
 ö£õ¸Ò ui©ß ©v¨¤kÁuØS 

(C) To evaluate surface smoothness  
 ÷©Ø£μ¨¦ ö©ßø©ø¯ ©v¨¤kÁuØS   

(D) To measure electrical conductivity   
 ªß PhzxzvÓøÚ AÍÂh  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

24. Size and contour of weld are determined by 
öÁÀiß AÍÄ, ÁiÁ® –––––––––– BÀ wº©õÛUP¨£kQÓx 

(A) Weld Gauges (B) Magnifying Glass 

 öÁÀk ÷Páì  E¸¨ö£¸US® Psnõi  

(C) Steel Rule (D) Naked Eye  
 ìjÀ ¹À  öÁÖ® PsPÒ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

25. Radiography test uses ___________ rays. 
PvºÃa_ ÷\õuøÚ°À –––––––––– PvºPÒ £¯ß£kQßÓÚ. 

(A) X-Ray (B) Gamma Ray 

 GUì Pvº  Põ©õ Pvº 

(C) X-Ray or Gamma Ray (D) Ultraviolet Ray 
 GUì Pvº AÀ»x Põ©õ Pvº  ¦Ó Fuõ Pvº  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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26. Sound with frequencies in excess of ___________ referred as 
ultrasonic frequency  
–––––––––– ØS AvP©õÚ J¼ AvºöÁs «ö¯õ¼ AvºöÁs GÚ 
J¨¤h¨£kQÓx. 

(A) 20,000 Hz (B) 15,000 Hz 

 20,000 öíºmì  15,000 öíºmì 

(C) 10,500 Hz (D) 10,000 Hz  
 10,500 öíºmì  10,000 öíºmì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

27. NDT means  
NDT Gß£x –––––––––– I SÔUS® 

(A) Normal Destructive Test   

 \õuõμn ÷\u¨£kzx® ÷\õuøÚ  

(B) Non Destructive Test 
 ÷\u¨£kzuõu ÷\õuøÚ 

(C) Non-Metal Destructive Test  
 A÷»õP ÷\u¨£kzx® ÷\õuøÚ    

(D) New Destructive Test 
 ¦x ÷\u¨£kzx® ÷\õuøÚ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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28. Stethoscopic test is also called as ___________ test. 
ìöhzuì÷Põ¨ ÷\õuøÚ –––––––––– ÷\õuøÚ GßÖ® AøÇUP¨£kQÓx. 

(A) Etch (B) Sound 

 Gma  J¼ 

(C) Hardness (D) Radiography  
 PiÚzußø©  Pvº Ãa_  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

29. Before making the next run in multi-welding, each weld is inspected 
by which stage to check that it has been adequately cleaned? 
©Ài öÁÀi[&À Akzu öÁÀi[ Kmhzøu ÷©ØöPõÒÁuØS •ß 
JÆöÁõ¸ öÁÀk® ÷£õx©õÚ AÍÄ _zu® ö\´¯¨£mkÒÍuõ Gß£øu 
\›£õºUP G¢u £õºøÁ ‰»® B´Ä ö\´¯¨£kQÓx? 

(A) Visual inspection before welding  

 £õºøÁ ‰»® B´Ä ö\´uÀ öÁÀi[ ö\´ÁuØS •ß¦   

(B) Visual inspection during welding 
 £õºøÁ ‰»® B´Ä ö\´uÀ öÁÀi[ ö\´²® ö£õÊx 

(C) Visual inspection after welding  
 £õºøÁ ‰»® B´Ä öÁÀi[ ö\´u ¤ÓS   

(D) Visual inspection before and during welding  
 £õºøÁ ‰»® B´Ä öÁÀi[ ö\´ÁuØS •ß¦ ©ØÖ® öÁÀi[ 

ö\´²® ö£õÊx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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30. Which is the type of non destructive test poses a hazard to the
operator? 
G¢u ÁøP¯õÚ AÈÂÀ»õu ÷\õuøÚ B£÷μmh¸US B£zøu 
HØ£kzxQÓx? 

(A) X-ray Test (B) Ultrasonic Test 

 GUì&÷μ ÷\õuøÚ  AÀmμõ÷\õÛU ÷\õuøÚ 

(C) Magnetic Test (D) Liquid Penetrant Test 
 Põ¢uxPÒ ÷\õuøÚ  vμÁ Fk¸ÁÀ ÷\õuøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

31. What is the disadvantage of destructive testing?  
÷\u¨£kzv £õºUS® ÷\õuøÚ°ß wø©PÒ GßÚ? 

(A) It is time-consuming  
 ÷|μzøu GkzxU öPõÒÐ® 

(B) It can be expansive 

 AvP ö\»ÁõS®   

(C) It destroys the specimen being tested  
 ÷\õuøÚ°ß ÷£õx ©õv›ø¯ ÷\u¨£kzxuÀ 

(D) It is less accurate 
 SøÓ¢uÍÄ xÀ¼¯©õP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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32. What type of loading is typically used to test the fatigue resistance
of welded joints?  
öÁÀhm ‰mkPÎß ÷\õºÄ Gvº¨ø£ ÷\õvUP ö£õxÁõP G¢u ÁøP¯õÚ 
HØÖuÀ £¯ß£kzu¨£kQÓx? 

(A) Push-pull loading  
 ¦è&¦À HØÖuÀ 

(B) Torsional loading 

 •ÖUS HØÖuÀ   

(C) Bending loading  
 ÁøÍUS® HØÖuÀ 

(D) Tension-compression loading 
 CÊÂø\&_¸UP HØÖuÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

33. Before performing destructive tests, what is an important initial
inspection step for welds? 
÷\u¨£kzx® ÷\õuøÚPøÍa ö\´ÁuØS •ß, öÁÀmPÐUPõÚ •UQ¯©õÚ 
Bμ®£ B´Ä¨£i GßÚ? 

(A) Measuring the colour of the weld 
 öÁÀiß {Ózøu AÍÂkuÀ 

(B) Conducting a visual inspection for obvious defects  
 öÁÎ¨£øh¯õÚ SøÓ£õkPÐUS Põm] (Â_ÁÀ) B´Ä |hzxuÀ 

(C) Weighing the materials 
 ö£õ¸mPøÍ Gøh÷£õkuÀ 

(D) Assessing the environmental conditions 
 _ØÖa`ÇÀ {ø»ø©PøÍ ©v¨¥k ö\´uÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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34. What type of testing is typically performed using a free bend test
Vise? 
C»Á\ ÁøÍÄ (L¨› ö£sm) ÷\õuøÚ°À øÁøé¨ £¯ß£kzv 
ö£õxÁõP G¢u ÁøP¯õÚ ÷\õuøÚ ö\´¯¨£kQÓx? 

(A) Non-destructive testing (B) Destructive testing 

 ÷\u¨£kzuõu ÷\õuøÚ  ÷\u¨£kzx® ÷\õuøÚ 

(C) Static testing (D) Dynamic testing 
 {ø»¯õÚ ÷\õuøÚ  øhÚªU ÷\õuøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

35. The test method used to test strength of spot welded joint is 
ì£õm öÁÀk (ìu» öÁÀk) ö\´¯¨£mh Cøn¨¤ß Á¼ø©ø¯U 
PshÔ²® ÷\õuøÚ 

(A) Hardness test (B) Tensile test 

 PiÚzußø© ÷\õuøÚ  CÊÁ¼ø© ÷\õuøÚ 

(C) Bend test (D) Fatigue test 
 ÁøÍ¨¦ ÷\õuøÚ  A¯ºa] ÷\õuøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

36. The main objective of weld inspection is to ensure –––––––––– of 
welds 
öÁÀkPÎÀ, öÁÀk B´Ä ö\´Áuß •UQ¯ ÷|õUPzvÚõÀ ––––––––––
AÔ¢x öPõÒÍ¨£kQÓx 

(A) Medium quality (B) High quality 

 |kzuμ uμ®  E¯º¢u uμ® 

(C) Low quality (D) Low and medium quality 
 SøÓ¢u uμ®  SøÓ¢u ©ØÖ® |kzuμ uμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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37. How is identify lack of fusion internal defects by destructive test? 
÷\u¨£kzx® ÷\õuøÚ ‰»® E¸SuÀ ÷£õx©õÚuõP CÀ»õø© 
SøÓ£õmiøÚ G¢u £›÷\õuøÚ ‰»® ö\´¯»õ®? 

(A) Electron microscopy 
 ªßÚq ø©U÷μõì÷Põ¤U 

(B) Examination of fractured weld  
 EøhUP¨£mh öÁÀiøÚ £›÷\õuøÚ ö\´uÀ 

(C) Eddy current test 
 ªßöÁmk ÷\õuøÚ 

(D) Mass spectrometry 
 ªßÚq ©õì ÷\õuøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

38. Which is the test to determine the tensile strength and ductility of a
weld? 
J¸ öÁÀiß CÊÂø\ Á¼ø© ©ØÖ® }ºzx¨ ÷£õS® ußø©ø¯U 
PshÔ²® ÷\õuøÚ Gx? 

(A) Charpy impact test  (B) I zod impact test 

 \õº¨¤ uõUS® ÷\õuøÚ  I éõk uõUS® ÷\õuøÚ 

(C) Tensile test (D) Hardness test 
 öhßø\À öhìm  PiÚzußø© ÷\õuøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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39. A test that involves breaking a material to assess its strength is
known as 
J¸ ö£õ¸øÍ Eøh¨£uß ‰»® Auß BØÓø» ©v¨¥k ö\´²® ÷\õuøÚ 
–––––––––– GßÖ AøÇUP¨£kQÓx. 

(A) Dye Penetrant test   
 \õ¯ ÷\õuøÚ 

(B) Magnetic particle test 

 Põ¢u Âø\ ÷\õuøÚ 

(C) Tensile test  
 öhßø\À öhìm (CÊøÁ ÷\õuøÚ) 

(D) Ultrasonic test 
 AÀmμõ÷\õÛU ÷\õuøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

40. Why inspection are needed in welding? 
öÁÀi[ B´Ä ö\´Áuß ÷|õUP® GßÚ? 

(A) Determine faults, strength and quality weld 
 öÁÀk SøÓ£õk Á¼ø© ©ØÖ® uμzøu wº©õÛUP 

(B) Determine the material  
 ö£õ¸øÍ (ö©mi›¯À) wº©õÛUP 

(C) Determine the welded metal 
 öÁÀk ö\´u ö©mhø» wº©õÛUP 

(D) Determine the electrode fusibility 
 G»Um÷μõk E¸SÁøu wº©õÛUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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41. If speed of the welding process decreases, then heat affected zone
and distortion   
öÁÀi[ ö\¯À•øÓ°ß ÷ÁP® SøÓ²®÷£õx, öÁ¨£ £õv¨¦ £Sv ©ØÖ® 
E¸Á ©õØÓ®  

(A) Increase  
 AvP›UQÓx 

(B) Decrease 

 SøÓQÓx 

(C) Remain the same  
 A¨£i÷¯ EÒÍx 

(D) Are totally controlled 
 •ØÔ¾©õP Pmk¨£kzu¨£kQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. Peening is done over the surface of the weld to relieve  
öÁÀk £μ¨¤ß «x ¥Û[ ö\´Áx —————— I ÂkÂUS®. 

(A) Internal defect (B) Internal strain 

 Em¦ÓU SøÓ£õk  Em¦Óz uøPÄ 

(C) Internal stress (D) Internal crack 
 Em¦Óz v›¦  Em¦Ó Â›\À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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43. Buckling is the deformation particularly in plates of ——————
thickness. 
ö|ÎuÀ GßÓ E¸©õØÓ® SÔ¨£õP —————— PÚ•ÒÍ ¤÷ÍmkPÎÀ 
HØ£kQÓx. 

(A) More (B) Less 

 AvP  SøÓ¢u 

(C) Heavy or small (D) Too heavy 
 AvP©õÚ AÀ»x ö©À¼¯  ªP AvP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

44. Due to distortion the weld job getting? 
E¸z v›¦ HØ£kÁuõÀ öÁÀk G¨£i C¸US®? 

(A) Bad (B) Good 

 ÷©õ\®  |ßÓõP 

(C) V. Good (D) Too bad appearance 
 ªP |ßÓõP  ªP ÷©õ\©õÚ ÷uõØÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

45. Which one of the following methods of welding is not a method used
to control the distortion? 
RÌUPshÁØÖÒ G¢u öÁÀi[ •øÓ¯õÚx E¸©õØÓzøuU Pmk¨£kzu 
£¯ß£kzu¨£kÁvÀø»? 

(A) Skip welding (B) Back step welding 

 ìQ¨ öÁÀi[  ÷£U ìöh¨ öÁÀi[ 

(C) Right hand welding (D) Intermittent welding 
 Á»x øP öÁÀi[  Cßhºªhßm öÁÀi[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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46. Transverse (Distortion) shrinkage that occurs to 
SÖUS (E¸Á©õØÓ®) _¸UP® G[÷P HØ£kQÓx? 

(A) Parallel to the weld line  
 öÁÀk ø»ÛØS Cøn¯õP 

(B) Perpendicular to the weld line 

 öÁÀk ø»ÛØS ö\[SzuõP 

(C) Angular change  
 ÷Põn ©õØÓzvÀ 

(D) Size change 
 AÍÄ ©õØÓzvÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

47. Improper arc travel speed causes 
uÁÓõÚ BºU |PºÄ ÷ÁP® —————— I HØ£kzx®. 

(A) Distortion (B) Arc blow 

 E¸Á ©õØÓ®  BºU uÒÍ¨£kuÀ 

(C) Less spatters (D) Complete penetration 
 SøÓÁõÚ E÷»õPz öuÔ¨¦PÒ  •Êø©¯õÚ Fk¸ÁÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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48. Arc blow is experienced most when using current 
BºU uÒÍ¨£kuÀ ö£¸®£õ¾® —————— ªß÷Úõmhzøu 
£¯ß£kzx® ÷£õx HØ£k®. 

(A) Above 250 ampere (B) Above 150 ampere 

 250 B®¤¯¸US ÷©À  150 B®¤¯¸US ÷©À 

(C) Above 200 ampere (D) Above 100 ampere 
 200 B®¤¯¸US ÷©À  100 B®¤¯¸US ÷©À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

49. What is the angle of pipe axis with the base for making an elbow
joint? 
SÇõ´ GÀ÷£õ Cøn¨ø£ E¸ÁõUS® ÷£õx, ÷£ì Ehß SÇõ´ Aa]ß 
÷Põn® 

(A) 45° (B)  90° 

(C) 120° (D) 180° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

50. The effect of arc blow has 
BºU ¨÷ÍõÂÚõÀ —————— ÂøÍÄ HØ£k®. 

(A) Correct weld (B) More spatters 

 \›¯õÚ öÁÀk  AvP E÷»õP öuÔ¨¦PÒ 

(C) Good penetration (D) Less spatters 
 |À» BÇ©õÚ Fk¸ÁÀ  SøÓ¢u E÷»õP öuÔ¨¦PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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51. The arc blow can be controlled by 
BºU ¨÷Íõ –––––––––– ‰»® Pmk¨£kzu¨£kQÓx 

(A) High current input  

 AvP ªß\õμ® 

(B) High voltage input  
 AvP ÷ÁõÀm÷hä 

(C) High resistance current  
 AvP ªßuøh  

(D) Holding the correct electrode angle with a short arc 
 \›¯õÚ AÍÄ G»Um÷μõk ©ØÖ® Smøh BºU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

52. What is the purpose of the wrapping the electrode cable around the
work? 
öÁÀi[ ö\´²® ö£õÊx öÁÀi[ ÷P¤Ò BÚx öÁÀk áõ¤ß «x 
_ØÓ¨£kÁuß ÷|õUP® GßÚ? 

(A) To control the distortion  

 E¸©õØÓzøuU Pmk¨£kzu  

(B) To control the buckling 
 ö|Îuø»U Pmk¨£kzu 
(C) To control the arc blow  
 BºU ¨÷ÍõøÁU Pmk¨£kzu  

(D) To control the over heating 
 AvP öÁ¨£zøuU Pmk¨£kzu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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53. The selection of nozzle for pipe welding depends on 
SÇõ´ £ØÔøn¨¤ØS |õ]ø»z ÷uºÄ ö\´Áx –––––––––– ö£õÖzux. 

(A) Pipe length (B) Pipe wall thickness 

 SÇõ°ß }Ízøu  SÇõ°ß _ÁºUPÚzøu 

(C) Pipe outer diameter (D) Pipe inner diameter 
 SÇõ°ß öÁÎ Âmhzøu  SÇõ°ß EÒ Âmhzøu  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

54. Purpose of using bent wire is to  
ÁøÍ¢u P®¤ £¯ß£kzxÁuß ÷|õUP® 

(A) Align the job  

 ÷Áø»ø¯ Aø©Ä ö\´u¾US BS® 

(B) Set root gap 
 Ai CøhöÁÎ Aø©Ä ö\´u¾US BS® 

(C) Provide root face  
 ÷Áº •P¨ø£ ÂkÁuØS BS®  

(D) Minimize stress 
 v›ø£ SøÓ¨£uØS BS® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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55. What is the size of key hole to  be maintained for root pass in pipe 
welding? 
ø£¨ öÁÀi[QÀ ¹m £õì &ß R ÷íõÀ (\õÂz xøÍ) AÍÄ GÆÁÍÄ 
C¸UP ÷Ásk®? 

(A) 
2
1

1  times of electrode  

 
2
1

1  ©h[S G»Um÷μõk AÍÄ  

(B) 
3
1

1  times of electrode 

 
3
1

1 ©h[S G»Um÷μõk AÍÄ 

(C) 
4
1

1  times of electrode  

 
4
1

1  ©h[S G»Um÷μõk AÍÄ  

(D) 
5
1

1  times of electrode 

 
5
1

1  ©h[S G»Um÷μõk AÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

56. What is the size of electrode for root run in pipe welding? 
ø£¨ öÁÀi[QÀ ¹m μß AiUP G¢u AÍÄ G»Um÷μõøh¨ 
£¯ß£kzxÁõ´? 

(A) 2.5 mm (B) 3.15 mm 

(C) 4 mm (D) 5 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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57. In pipe welding 5G is referred to which weld position? 
ø£¨ öÁÀi[QÀ 5G Gß£x G¢u öÁÀi[ {ø»ø¯U SÔUQßÓx? 

(A) Pipe weld in horizontal position  

 Qøh©mh {ø»   

(B) Pipe weld in flat (roll) position 
 £kUøP {ø» (_ÇØ]) 

(C) Pipe weld in flat (fixed) position  
 £kUøP {ø» ({ø»¯õÚ)   

(D) Pipe weld in inclining (fixed) position  
 \õ´Ä {ø» ({ø»¯õÚ) 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

58. How many pipe joints are there in Pipe welding? 
ø£¨ öÁÀi[QÀ ø£¨ Cøn¨¦PÒ GzuøÚ ÁøP¨£k®? 

(A) 5 (B) 6 

(C) 7 (D) 8 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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59. The primary advantage of using a branch joint is 
QøÍ Cøn¨¦PÎß •ußø©¯õÚ £¯ß£õk GßÚ? 

(A) To allow for increased flow distribution  

 Â{÷¯õQUS® Kmhzøu AvP›UQÓx   

(B) To change the pipe diameter 
 SÇõ´PÎß Âmhzøu ©õØÓ 

(C) To provide structural support  
 Pmhø©PÐUS EÖxøn¯õP  

(D) To reduce the length of the pipe 
 SÇõ´PÎß }Ízøu SøÓUP 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

60. In Branch pipe joint how many equal divisions should be made? 
QøÍU SÇõ´ Cøn¨¦ Â›ÁõUP® ö\´ÁuØS GzuøÚ \© ¤›ÄPøÍ 
u¯õ›UP ÷Ásk®? 

(A) 4 equal divisions (B) 6 equal divisions 

 4 \© ¤›ÄPÒ  6 \© ¤›ÄPÒ 

(C) 12 equal divisions (D) 16 equal divisions 
 12 \© ¤›ÄPÒ  16 \© ¤›ÄPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

61. What dose the symbol with two triangle, pointing together signify?  
öÁÀi[ ]®£Îß Cμsk •U÷Põn[PÐ® JßÓõP _miUPõmk® ]ßÚ® 
(]®£Ò) GßÚ? 

(A) Fillet weld (B) Plug weld 

 ¤À»m öÁÀk  ¤ÍU öÁÀk 

(C) Backing weld (D) Weld all around  
 ÷£UQ[ öÁÀk  BÀAμÄsk öÁÀk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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62. Which position is not commonly used for welding?  
G¢u {ø»¯õÚ ö£õxÁõP öÁÀi[QÀ £¯ß£kzxÁx CÀø»? 

(A) Flat  

 Qøh©mh {ø»  

(B) Horizontal 
 £kUøP {ø» 

(C) Diagonal  
 øh¯US|À {ø» (‰ø» Âmh {ø»)   

(D) Vertical 
 ö|kUS {ø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

63. The main effect of arc length on a weld is  
J¸ öÁÀiÀ BºU }Ízvß •UQ¯ ÷Áø» GßÚ? 

(A) Increased spatter   
 öuÔ¨ø£ AvP›¨£x  

(B) Arc stability 
 BºUøP {ø»¨£kzxÁx 

(C) Poor fusion    
 SøÓÁõÚ E¸SuÀ  

(D) Poor Arc stability 
 BºUøP {ø» {Özu C¯»õø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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64. What is vertical Position Groove Angle for (ASME)? 
ö|kUS {ø» (ö\[Szx) S¹Æ öÁÀi[ {ø»°ß SÔ±k (ASME) 
GßÚ? 

(A) 4 G (B) 1 G 

(C) 2 G (D) 3 G 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. Which position is very eased for welding?  
G¢u öÁÀi[ {ø» öÁÀk ö\´Áx _»£®? 

(A) Horizontal  

 Qøh©mh {ø»  

(B) Vertical 
 ö|kUS {ø» / ö\[Szx {ø» 

(C) Flat / Down hand  
 £kUøP {ø»  

(D) Over head 
 uø»US ÷©À {ø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

66. ————— arc length produces humming sound. 
————— BºU }Í® Ÿ[Põμ Kø\ø¯ HØ£kzx®. 

(A) Short (B) Long 

 Smøh¯õÚ  }Í©õÚ 

(C) Normal (D) Medium  
 \õuõμn  |k{ø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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67. When welding with a short arc length, which of the following is 
likely to improve? 
SÖQ¯ BºU }Ízøu £¯ß£kzv öÁÀi[ ö\´²® ÷£õx RÌPshÁØÖÒ 
Gøu ÷©®£kzu EuÄ®? 

(A) Heat input (B) Arc stability  
 öÁ¨£ EÒÏmøh  BºUøP {ø» {Özx® ußø©

(C) Penetration (D) Spatter 
 BÇ©õÚ Fk¸ÁÀ  öuÔ¨¦ HØ£kÁøu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

68. What is a effect of a long arc length during welding?  
öÁÀi[Qß ÷£õx »õ[ BºUQß ÂøÍÄ GßÚ? 

(A) Increased penetration   
 AvP›zu Fk¸ÁÀ  

(B) Oxidation of weld metal 
 öÁÀm E÷»õPzvß BU]á÷ÚØÓ® 

(C) Reduce heat input  
 SøÓUP¨£mh öÁ¨£ EÒÏk  

(D) Improved control of the weld pool 
 öÁÀm SÍzvß ÷©®£kzu¨£mh Pmk¨£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



440–Welder 
 

34

69. The distance between the tip of the electrode and the parent metal
where the arc strike is called 
BºU öÁÀi[QÀ Buõμ E÷»õPzvß ÷©Ø£μ¨¤ØS® G»Um÷μõk 
•øÚUS® Cøh÷¯ EÒÍ yμ® GÆÁõÖ AøÇUP¨£k®? 

(A) Arc gap (B) Arc length 

 BºU ÷P¨  BºU ö»ßz 

(C) Arc distance (D) Arc width 
 BºU iìhßì  BºU Âmz 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

70. Which of the following arc lengths produces a wider bead?  
G¢u ÁøP BºU ö»ßz £¯ß£kzvÚõÀ AP»©õÚ öÁÀm ¥m HØ£k®? 

(A) Short arc (B) Medium arc 

 Smøh¯õÚ BºU  |k{ø» BºU 

(C) Long arc (D) To short arc 
 }Í©õÚ BºU  ªP Smøh¯õÚ BºU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

71. To weld stainless steel and hard facing, what type of polarity you
can choose most preferred?  
PiÚ •P¨¤hÄ®, ìöh°ßö»ì ìjÀ öÁÀi[ ö\´¯Ä® G¢u ÁøP¯õÚ 
ö£õ»›miø¯ ÷uº¢öuk¨£õ´? 

(A) AC transformer  (B) Reverse polarity 

 AC  iμõßì£õº©º  Gvº •øÚ©® 

(C) Straight polarity (D) DC Motor generator 
 ÷|º •øÚ©®  DC ÷©õmhõº öáÚ÷μmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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72. Which type of polarity used for heavy and super heavy coated
electrode welded? 
G¢u ÁøP¯õÚ ö£õ»õ›miø¯ £¯ß£kzv PÚ©õÚ §a_ ©ØÖ® AvP 
PÚ©õÚ §a_ öPõsh G»Um÷μõøh öÁÀk ö\´Áõ´? 

(A) Rectifier set (B) Reverse polarity 

 öμUi£¯º ö\m  ›Áºì ö£õ»õ›mi 

(C) AC transformer (D) Straight polarity 
 H.]. iμõßì£õº©º  ìöh´m ö£õ»õ›mi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

73. Which type of polarity used in Cast ion metals? 
÷Pìm A¯ºß ö©mhø» öÁÀk ö\´¯ G¢u ö£õ»õ›miø¯ ÷uºÄ 
ö\´Áõ´? 

(A) Reverse polarity (B) Electrode Negative 

 ›Áºì ö£õ»õ›mi  G»Um÷μõk ö|PiÆ 

(C) Straight polarity (D) Rectifier set 
 ìöh´m ö£õ»õ›mi  öμUi£¯º ö\m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

74. Which type of polarity used in bare wire electrode? 
¤ÍUì §a_ CÀ»õu öÁØÖ P®¤ G»m÷μõkUS G¢u ÁøP¯õÚ ö£õ»õ›mi 
£¯ß£kzxÁõ´? 

(A) Straight polarity  (B) Reverse polarity 

 ÷|º ö£õ»õ›mi  Gvº ö£õ»õ›mi 

(C) AC transformer (D) Rectifier set 
 H.]. iμõßì£õº©º  öμUi£¯º ö\m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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75. What is the direction of electron flow in a circuit? 
_ØÖÁmhzvÀ G»Umμõß Kmhzvß vø\ GßÚ? 

(A) From positive to negative  

 ÷|º©øÓ°¼¸¢x Gvº©øÓ Áøμ   
  

(B) From negative to positive 
 Gvº©øÓ°¼¸¢x ÷|º©øÓ Áøμ   

(C) Randomly   
 uØö\¯»õP 

(D) None of the above 
 ÷©÷» GxÄ® CÀø»   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

76. Slag is not generated after which of the following welding processes?
¤ßÁ¸® G¢u öÁÀi[ ö\¯À•øÓUS¨ ¤ÓS P\k E¸ÁõUP¨£hÂÀø»?

(A) Manual metal arc welding (B) Flux cored arc welding 

 ÷©ÝÁÀ ö©mhÀ BºU öÁÀi[  L¨ÍUì ÷Põºk BºU öÁÀi[

(C) Gas tungsten arc welding (D) Shielded metal arc welding
 ÷Pì h[ìhß BºU öÁÀi[  PÁ\ E÷»õP BºU öÁÀi[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

77. A radius gauge is also known as  
J¸ ÷μi¯ì ÷Pä –––––––––––––– GßÖ AøÇUP¨£kQÓx. 

(A) Snap gauge (B) Feeler gauge 

 ìÚõ¨ ÷Pä  ¥Íº ÷Pä 

(C) Fillet gauge (D) Slip gauge 
 ¤ÒÍm ÷Pä  ì¼¨ ÷Pä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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78. Which metal in welding process is subjected to “weld decay” defect? 
öÁÀi[ •øÓ°À öÁÀk iU÷P GßÓ SøÓ£õk G¢u E÷»õPzvß «x 
HØ£k®? 

(A) Brass (B) Copper 

 ¤μõì  Põ¨£º 

(C) Mild steel (D) Stainless steel 
 ø©Àk ìjÀ  ìöh°ß»ì ìjÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

79. A key hole is to be maintained throughout the welding of the first
run in a butt joint to ensure 
£m áõ°siÀ •uÀ £iøÁa ö\´²®÷£õx öÁÀiß •Êø©US® \õÂ 
xøÍø¯ £μõ©›¨£uõÀ RÌUPsh SøÓø¯ EÖv¨£kzu»õ®. 

(A) Crack free end (B) Proper bead  width 

 öÁi¨£ØÓ  öÁÀi[   \›¯õÚ £iÄ AP»® 

(C) Good rainforcement (D) Proper root penetration 
 |À» öμ°ß÷£õºìö©sm  \›¯õÚ Ai¨¦Ó Fk¸ÁÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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80. What does the Dye Penetrant Testing (DPT) method detect? 
\õ¯ Fk¸ÁÀ (øh ö£Ûmμßm) ÷\õuøÚ •øÓ°À G¢u SøÓ£õmøh 
PshÔ¯»õ®? 

(A) Internal defects   

 Em¦Ó SøÓ£õk 

(B) Surface cracks 
 ¦Ó£μ¨¦ Â›\À (\º÷£ì QμõU) 

(C) Weld dimensions 
 öÁÀi[Qß AÍÄ 

(D) Weld composition  
 öÁÀk Põ®÷£õ]\ß   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

81. Which gas is used in Torch brazing? 
hõºa ¤÷μê[QÀ G¢u Áõ² £¯ß£kzu¨£kQÓx? 

(A) Oxy-Nitrogen (B) Oxy-Coal 

 BUê&ø|mμáß  BUê&÷PõÀ 

(C) Oxy-Hydrogen (D) Oxy-Acetylene 
 BUê&øímμáß  BUê&A]mi¼ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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82. Which temperature is suitable for Brazing? 
G¢u öÁ¨£{ø» ¤÷μê[QØS HØÓx? 

(A) above 250°C (B) above 350°C 

 250°C ÷©À  350°C ÷©À 

(C) above 450°C (D) above 600°C 
 450°C ÷©À  600°C ÷©À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

83. What are the dimensions and widths of the grooves of the groove
roller? 
S¸Æ ÷μõ»›ß S¸Æ G¢öu¢u AÍÄPÎÀ/AP»[PøÍ öPõshuõP 
EÒÍÚ? 

(A) 4 mm, 8 mm, 9 mm, 11 mm 
 4 mm, 8 mm, 9 mm, 11 mm 

(B) 3 mm, 4 mm, 5 mm and 6 mm  
 3 mm, 4 mm, 5 mm ©ØÖ® 6 mm 

(C) 4 mm, 6 mm, 7 mm and 10 mm 
 4 mm, 6 mm, 7 mm ©ØÖ® 10 mm 

(D) 5 mm, 6 mm, 8 mm and 10 mm 
 5 mm, 6 mm, 8 mm ©ØÖ® 10 mm  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



440–Welder 
 

40

84. What is the maximum clearance between two surface to be pressed
together? 
¤÷μ][QÀ CønUP¨£k® Cμsk £μ¨¦PÐUS® Cøh÷¯ AvP£m\
CøhöÁÎ GÆÁÍÄ? 

(A) 0.08 mm (B) 0.09 mm 

(C) 1 mm (D) 1.2 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

85. What is the electrode used for resist pressing made of? 
Gvº¨¦ ¤÷μ][ £¯ß£kzu¨£k® Gö»Um÷μõk GuÚõÀ 
u¯õ›UP¨£kQÓx? 

(A) Copper (B) Brass 

 Põ¨£º  ¤μõì 

(C) Carbon (D) Aluminium 
 Põº£ß  A¾ªÛ¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. Triangular cross-section joining two surfaces is called 
Cμsk ÷©Ø£μ¨¦PøÍ CønUS® •U÷Põn SÖUS öÁmiøÚ GÆÁõÖ 
TÖÁº? 

(A) fillet (B) butt 

 L¤À»m  £m 

(C) slope (D) leg length 
 ì÷»õ¨/\õ´Ä  ö»U ö»ßz/PõÀ }Í® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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87. Why the surface cleaning is important in before welding? 
öÁÀi[ ö\´ÁuØS •ß ÷©Ø£μ¨ø£ _zu® ö\´Áuß •UQ¯® GßÚ? 

(A) to increase hardness (B) to remove hardness 

 PiÚzußø©ø¯ AvP›UP  PiÚzußø©ø¯ }UP 

(C) to remove contaminants (D) to increase contaminants 
 A_zu[PøÍ }UP  A_zu[PøÍ AvP›UP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

88. Which type of wire brush is used for cleaning at ferrous metal? 
C¸®¦ P»¢u E÷»õP® G¢u ¤μè]ÚõÀ _zu® ö\´¯¨£kQÓx? 

(A) carbon wire brush (B) stainless steel brush 

 Põº£ß J¯º ¤μè  ìöh°ßö»ì ìjÀ ¤μè 

(C) bronze wire brush (D) copper wire brush 
 ¤μõßì J¯º ¤μè  Põ¨£º J¯º ¤μè 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

89. What is the name of excess weld metal above the base metal
surface? 
Buõμ E÷»õPzvß ÷©Ø£μ¨¤ØS ÷©À AvP¨£i¯õÚ öÁÀk ö©mh¼ß 
ö£¯º GßÚ? 

(A) Weld zone (B) Sealing run 

 öÁÀk ÷áõß  ^¼[ μß 

(C) Packing run (D) Reinforcement 
 ÷£UQ[ μß  öμ°ß÷£õìö©ßm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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90. Why root Gap is necessary in butt joint? 
£m Cøn¨¤À ¹m ÷P¨ Hß AÁ]¯®? 

(A) to deposit more metal 
 AvP¨£i¯õÚ E÷»õPzøu öh£õ]m ö\´¯ 

(B) to control the weld metal 
 öÁÀm E÷»õPzøu Pmk¨£kzu 

(C) to maintain the alignment 
 ^μø©¨ø£ £μõ©›UP 

(D) to obtain required depth of the penetration 
 Fk¸Á¼ß ÷uøÁ¯õÚ BÇzøu ö£Ó 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

91. How the arc length distance are referred? 
BºQß }Í® GÆÁõÖ PnUQh¨£kQÓx& 

(A) Tip of the electrode and job  

 G»Um÷μõiß •øÚUS® áõ¨¤ØS® EÒÍ CøhöÁÎ   

(B) Welding machine and job  
 öÁÀi[ C¯¢vμzvØS® áõ¨¤ØS® 

(C) Welding rod and electrode holder  
 öÁÀi[ μõiØS® G»Um÷μõiß ¤i¨£õß  

(D) Welding machine and electrode 
 öÁÀi[ C¯¢vμzvØS® G»Um÷μõiØS® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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92. How the deposition rate of weld metal is increased in flat position? 
£kUøP {ø»°À öÁÀi[ ö\´²® ÷£õx öÁÀk ö©mh¼ß AÍÄ 
GuÚõÀ AvP›US® 

(A) Gravity force (B) Gas expansion 

 ¦Â±º¨¦  Áõ² Â›ÁøhuÀ 

(C) Surface tension (D) Electromagnetic 
 £μ¨¦ CÊÂø\  ªß Põ¢u Âø\ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

93. Identity the welding process when heat alone is used during
welding? 
G¢u ÁøP¯õÚ öÁÀi[ ö\¯À•øÓ°À öÁÀi[ ö\´²® ÷£õx öÁ¨£® 
©mk® £¯ß£kzu¨£kQÓx? 

(A) Fusion (B) Submerged 

 CønÄ/E¸USuÀ  ‰ÌSuÀ \¨÷©ºìk 

(C) Shielded metal arc (D) Gas Tungsten arc 
 ^À÷hm ö©mhÀ BºU  ÷Pì h[ìhß BºU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

94. The arc length is slightly less than the diameter of the electrode is
called 
BºUQß }Í® G»Um÷μõiß Âmhzøu Âh SøÓÁõP C¸¢uõÀ Auß 
ö£¯º 

(A) Short (B) Long 

 Smøh  }Í® 

(C) Medium (D) Too long 
 |kzuμ®  ªP }Í©õÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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95. Thread is formed by cutting a continuous helical groove on a
cylindrical surface called 
E¸øÍ°ß ÷©Ø£μ¨¤À _ÇÀ {ø» £ÒÍ® öuõhºa]¯õP ©øÓ°À 
C¸¢uõÀ AuøÚ GÆÁõÖ TÖÁº 

(A) Bolt (B) Nut 

 ÷£õÀm  |m 

(C) Screw (D) Rivet 
 ìS¸  ›Ám 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

96. Name the force the molten globules travel downwards towards the
job? 
E¸Q¯ E÷»õPz xÎPÒ RÌ ÷|õUQ áõ¨¤À ÂÊ® Âø\US GßÚ ö£¯º 

(A) Gravity (B) Gas expansion 

 ¦Â±º¨¦  Áõ² Â›ÁøhuÀ 

(C) Surface tension (D) Electromagnetic 
 £μ¨¦ CÊÂø\  ªßPõ¢u Âø\ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

97. The material which above the surface (Place surface/meter) is called
öÁÀk E÷»õPzvß ÷©Ø£μ¨¤À £i²® öÁÀk £iÂØS GßÚ ö£¯º 

(A) Weld slope (B) Toe of the weld 

 öÁÀk \›Ä  öÁÀk ÷hõ 

(C) Concave bead (D) Reinforcement 
 SÂ £iÄ  ›ß÷£õºìö©sk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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98. The Temperature of oxy–Aectyline flame is  
BU]–A]i¼ß ¤÷»ªß öÁ¨£{ø» GßÚ? 

(A) 3000°C (B) 3200°C 

(C) 3150°C (D) 3500°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

99. Which one is suitable for insulators? 
Cß_÷»hºPÐUS ö£õ¸zu©õÚx Gx? 

(A) Copper (B) Plastic 

 Põ¨£º (ö\®¦)  ¤ÍõìiU 

(C) Tin (D) Bronze 
 iß (uPμ®)  ¤μõßì (öÁsP»®) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

100. The pressure which makes the electron current to flow it is called 
G»UmμõøÚ £õ¯a ö\´²® AÊzu® ————— GßÖ AøÇUP¨£kQÓx 

(A) Amper  

 Amper (B®¤¯º)  

(B) Voltage  
 Voltage ÷ÁõÀ÷hä (ªßÚÊzu®) 

(C) Current  
 Pμsm (ªß\õμ®)  

(D) Circuit 
 \ºQ²m (_ØÖ) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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101. Which type of SMAW welding machine offers both AC and DC
current when welding? 
SMAW öÁÀi[ C¯¢vμ[PÎÀ G¢u öÁÀi[ C¯¢vμzvÀ AC ©ØÖ® DC 
ªß\õμ©õP |õ® ©õØÔ £¯ß£kzu»õ®?  

(A) Transformer (B) Rectifier 

 iμõßì£õº©º  öμUi£¯º 

(C) Generator (D) Plasma arc 
 öáÚ÷μmhº  ¤Íõì©õ BºU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

102. Inverter based welding machines are preferred for their? 
CßöÁºmhº \õº¢u öÁÀi[ C¯¢vμ[PÒ G¢u PõμnzvØPõP •ßÝ›ø© 
AÎUP¨£kQÓx? 

(A) Portability (B) Low cost 

 Gkzxa ö\À» GÎø©¯õÚx  Âø» SøÓÄ 

(C) High weight (D) Low efficiency 
 Gøh AvP®  SøÓ¢u ö\¯À vÓß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. What is the normal open circuit welding voltage for the transformer
used in welding by AC power? 
iμõßì£õº©ºPøÍ C¯UP £¯ß£k® AC ªß÷ÚõmhzvÀ C¯À£õP 
Aø©UP¨£k® vÓ¢u ªß _ØÖ £¯ß£õk GßÚ? 

(A) 50 – 90 V (B) 400 – 440 V 

(C) 100 – 140 V (D) 220 – 260 V 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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104. Which one of the following machine is an AC arc welding machine in
given below? 
R÷Ç öPõkUP¨£mkÒÍ BºU öÁÀi[ C¯¢vμ[PÎÀ Gx JßÖ AC BºU 
öÁÀi[ C¯¢vμ®? 

(A) Motor generator set (B) Engine generator set 

 ÷©õmhõº öáÚ÷μmhº ö\m  Cßâß öáÚ÷μmhº ö\m 

(C) Transformer (D) No one these 
 iμõßì£õº©º  ÷©ØPsh GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

105. Which system of welding is free from "ARC blow"? 
G¢u öÁÀi[ •øÓ°À BºU ¦÷Íõ SøÓ£õk HØ£hõx? 

(A) DC welding (B) AC and DC welding 

 DC öÁÀi[  AC ©ØÖ® DC öÁÀi[ 

(C) AC welding (D) All the above 
 AC öÁÀi[  ÷©ØPsh AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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106. What is the basic principle of inverter? 
CßöÁºmhºPÎß Ai¨£øh uzxÁ® GßÚ? 

(A) It converts DC to AC  

 Cx DC I AC BP ©õØÖQÓx 

(B) It converts AC to DC 

 Cx AC I DC BP ©õØÖQÓx   

(C) It converts AC to AC 
 Cx AC I AC BP ©õØÖQÓx   

(D) It converts DC to DC 
 Cx DC I DC BP ©õØÖQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

107. What is the use of welding rectifier? 
öÁÀi[ öμUi£¯›ß £¯ß GßÚ? 

(A) Convert AC to DC (B) Convert AC to AC 

 AC I DC BP ©õØÓ  AC I AC BP ©õØÓ 

(C) Convert DC to AC (D) Convert DC to DC 
 DC I AC BP ©õØÓ  DC I DC BP ©õØÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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108. In welding transformers how many welding cables are attached in 
output terminals? 
öÁÀi[ iμõßì£õº©›ß AÄm ¦m öhºªÚ¼À GzuøÚ ÁøP¯õÚ 
öÁÀi[ ÷P¤ÒPÒ CønUP¨£mi¸US®? 

(A) Three (B) Two 

 ‰ßÖ  Cμsk 

(C) One (D) Four 
 JßÖ  |õßS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

109. AC transformer's iron core is made in which material? 
AC iμõßì£õº©›À EÒÍ A¯ºß ÷Põº G¢u E÷»õPzuõÀ 
ö\´¯¨£mi¸US®? 

(A) Copper alloy  

 Põ¨£º A»õ´   

(B) Aluminium 

 A¾ªÛ¯®   

(C) Brass  
 ¤zuøÍ   

(D) Special alloy thin iron sheet stamping 
 uÛÁøP P»¨¦ E÷»õPzuõ»õÚ ìhõ¨¤[ ö\´¯¨£mh ö©À¼¯ 

E÷»õPz uPk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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110. AC main supply means in Transformers are? 
iμõßì£õº©›À A.C •ußø© ªß Â{÷¯õP® Gß£x GßÚ?   

(A) Low voltage – Low ampere 
 SøÓ¢u ÷ÁõÀ÷hä & SøÓ¢u B®¤¯º  

(B) High voltage – High ampere 

 AvP ÷ÁõÀ÷hä & AvP B®¤¯º   

(C) High voltage – Low ampere 
 AvP ÷ÁõÀ÷hä & SøÓ¢u B®¤¯º  

(D) Low voltage – High ampere 
 SøÓ¢u ÷ÁõÀ÷hä & AvP B®¤¯º  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

111. Advantages of inverter welding machines are? 
CßöÁºmhº öÁÀi[ C¯¢vμ[PÎß |ßø©PÒ GøÁ? 

(A) Compact, light weight, easy to set 
 GÎø©¯õÚx, Gøh SøÓÄ, _»£©õP Aø©UP»õ®  

(B) Expensive, difficult to repair, sensitive 

 Âø» E¯º¢ux, £Êx }USÁx PiÚ®, PÁÚ®   

(C) Both (A) and (B) 

 (A) ©ØÖ® (B)  

(D) No one these 
 ÷©ØPsh GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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112. Which type of welding machine electric shock possibilities are more?
öÁÀi[ C¯¢vμ[PÎÀ ªß\õμ Avºa] £õv¨¦ AvP® EÒÍ C¯¢vμ® 
Gx? 

(A) Generator (B) Inverter 

 öáÚ÷μmhº  CßöÁºmhº 

(C) Transformer (D) No one these 
 iμõßì£õº©º  CÁØÔÀ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

113. In which of the following aspects is DC welding more advantages
than AC welding? 
R÷Ç öPõkUP¨£mkÒÍ G¢u J¸ £¯ÚõÀ AC öÁÀi[øP Âh DC 
öÁÀi[ ]Ó¢ux GßÖ TÓ¨£kQÓx? 

(A) Arc stability (B) Power consumption 

 {ø»¯õÚ BºU  £Áº (ªß\õμ®) ö\»Ä 

(C) Efficiency (D) Cost is high 
 ö\¯À vÓß  Âø» AvP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

114. —————— welding machine is difficult to repair. 
——————— öÁÀi[ C¯¢vμ® £Êx }USÁuØS ]μ©©õÚx. 

(A) Transformers (B) Generators 

 iμõßìL£õº©º  öáÚ÷μmhº 

(C) Inverters (D) Rectifier 
 CßöÁºmhº  öμUiLø£¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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115. In which welding machine has less possibility for electrical shock
because of less open circuit? 
G¢u öÁÀi[ C¯¢vμzvÀ ªß\õμ Avºa] HØ£h SøÓ¢u Áõ´¨¦PÒ 
EÒÍÚ? 

(A) Transformer (B) Rectifier 

 iμõßìL£õº©º  öμUiLø£¯º 

(C) Generator (D) Inverter 
 öáÚ÷μmhº  CßöÁºmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

116. —————— welding machine occupies more space. 
G¢u öÁÀi[ C¯¢vμ® AvP Chzøu BUQμªUS®? 

(A) Transformer (B) Generator 

 iμõßìL£õº©º  öáÚ÷μmhº 

(C) Rectifier (D) Inverter 
 öμUiLø£¯º  CßöÁºmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

117. —————— welding machine has higher operating cost. 
——————— öÁÀi[ C¯¢vμzvØS C¯UP¨£h BS® ö\»Ä AvP®. 

(A) Inverter (B) Rectifier 

 CßöÁºmhº  öμUiLø£¯º 

(C) Transformer (D) Generator 
 iμõßìL£õº©º  öáÚ÷μmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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118. —————— welding machine has advantage of polarity. 
——————— öÁÀi[ C¯¢vμzvÀ ö£õ»õ›mi GßÓ |ßø© Esk. 

(A) Rectifier (B) Inverter 

 öμUiLø£¯º  CßöÁºmhº 

(C) Generator (D) Transformer 
 öáÚ÷μmhº  iμõßìL£õº©º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

119. —————— welding machine is not suitable for welding
of non-ferrous metals. 
——————— öÁÀi[ C¯¢vμ® C¸®¦ AÀ»õu E÷»õP[PøÍ öÁÀk 
ö\´¯ C¯»õx. 

(A) Welding transformer (B) Welding generator 

 öÁÀi[ iμõßìL£õº©º  öÁÀi[ öáÚ÷μmhº 

(C) Rectifier (D) Inverter 
 öμUiLø£¯º  CßöÁºmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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120. Which one of the following welding machine has less maintenance
cost? 
RÌUPsh G¢u öÁÀi[ C¯¢vμzvØS £μõ©›¨¦ ö\»Ä SøÓÄ? 

(A) AC welding transformer 

 AC öÁÀi[ iμõßìL£õº©º  

(B) DC welding generator 

 DC öÁÀi[ öáÚ÷μmhº   

(C) AC/DC welding rectifier 

 AC/DC öÁÀi[ öμUiLø£¯º  

(D) Welding inverter 
 öÁÀi[ CßöÁºmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

121. Is acetylene gas flammable? 
A]mi¼ß Áõ² G›¯UTi¯uõ? 

(A) Yes (B) No 

 B®  CÀø» 

(C) May be (D) Not Applicable 
 C¸UP»õ®  ö£õ¸¢uõx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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122. What is a critical storage requirement for calcium carbide?  
PõÀ]¯® Põºø£kUPõÚ •UQ¯©õÚ ÷\ª¨¦z ÷uøÁ GßÚ? 

(A) Store it in a high humidity environment  

 AvP Dμ¨£u® EÒÍ `Ç¼À ÷\ªUPÄ®   

(B) Keep it away from moisture and water 

 Dμ¨£u® ©ØÖ® usp›¼¸¢x Â»UQ øÁUPÄ®   

(C) Store it in direct sunlight  
 ÷|μi `›¯ JÎ°À Aøu ÷\ªUPÄ®   

(D) Keep it at high temperatures 
 AvP öÁ¨£{ø»°À øÁUPÄ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

123. For removing the water vapour from the Acetylene gas the material 
used is 
A]mi½ß Áõ²Â¼¸¢x }μõÂø¯ APØÖÁuØS¨ £¯ß£kzu¨£k® 
ö£õ¸Ò 

(A) Filter Wool (B) Steel Wool 

 ÁiPmi P®£Î  GLS P®£Î 

(C) Pumic stone (D) Paper filters 
 ¤³ªU PÀ  PõQu ÁiPmiPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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124. In a low pressure system, acetylene gas is obtained in a low pressure
generator by water with 
SøÓ¢u AÊzu A]mi¼ß öáÚ÷μmh›À, A]mi¼ß }º ©ØÖ® 
–––––––––––– BÀ ö£Ó¨£kQÓx 

(A) Calcium carbide (B) Silicate carbide 

 PõÀ]¯® Põºø£k  ]¼U÷Pm Põºø£k 

(C) Acetone (D) None of the above 
 A]m÷hõß  ÷©÷» GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

125. What is the colour Acetyline Gas? 
A]mi¼ß Áõ²Âß {Ó® GßÚ? 

(A) Colourless (B) Yellowish 

 {Ó©ØÓx  ©g\Ò {Ó©õÚx 

(C) Greenish (D) Bluish 
 £aø\ {Ó©õÚx  }»{Ó® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

126. What is the typical composition of the porous substance material in
an acetylene gas cylinder?  
A]mi½ß Áõ² E¸øÍ°À EÒÍ ~sxøÍ¨ ö£õ¸Îß ö£õxÁõÚ 
P»øÁ GßÚ? 

(A) Activated carbon (B) Lime Silica 

 ö\¯À£kzu¨£mh Põº£ß  _snõ®¦ ]¼UPõ 

(C) Activated aluminium  (D) Zeolite 
 ö\¯À£kzu¨£mh A¾ªÛ¯®  â÷¯õø»m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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127. What is the standard color of a hydrogen cylinder? 
øímμáß ]¼sh›ß {ø»¯õÚ {Ó® GßÚ? 

(A) Red (B) Blue 

 ]Á¨¦  }»® 

(C) Yellow (D) Silver 
 ©g\Ò  öÁÒÎ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

128. What is the colour of the nitrogen gas cylinder used in gas welding? 
G›Áõ² öÁÀi[QÀ £¯ß£kzu¨£k® ø|mμáß Áõ² ]¼sh›ß {Ó® 
GßÚ? 

(A) Blue (B) Grey with black neck 

 }»®  P¸¨¦ PÊzxhß \õ®£À 

(C) White (D) Red 
 öÁÒøÍ  ]Á¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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129. What is the application of oxygen gas produced through electrolysis?
ªßÚõØ£S¨¤ß ‰»® EØ£zv ö\´¯¨£k® BUêáß Áõ²Âß 
£¯ß£õk GßÚ? 

(A) Industrial manufacturing processes  

 öuõÈÀxøÓ EØ£zv ö\¯À•øÓPÒ   

(B) Medical Treatments 

 ©¸zxÁ ]Qaø\PÒ   

(C) Food and beverage production  
 EnÄ ©ØÖ® £õÚ EØ£zv   

(D) Energy generation 
 BØÓÀ E¸ÁõUP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

130. What is the Primary role of oxygen gas in gas welding? 
G›Áõ² (÷Pì) öÁÀi[QÀ BUêáß Áõ²Âß •UQ¯ £[S GßÚ? 

(A) To cool the welding area  

 öÁÀi[ £Svø¯ SÎºÂUP   

(B) To create a protective shield 

 J¸ £õxPõ¨¦ PÁ\zøu E¸ÁõUP   

(C) To support combustion and increase flame temperature 
 G›¨¦ BuμÄ ©ØÖ® _hº öÁ¨£{ø» AvP›UP   

(D) To remove impurities from the metal 
 E÷»õPzv¼¸¢x A_zu[PøÍ APØÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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131. What types of regulator is typically used in mixed stage regulator? 
P»¨¦ {ø» öμS÷»mhºPÎÀ ö£õxÁõP G¢u ÁøP¯õÚ öμS÷»mhº 
£¯ß£kzu¨£kQÓx? 

(A) Single stage regulator (B) Double stage regulator 

 JØøÓ {ø» öμS÷»mhº  Cμmøh {ø» öμS÷»mhº 

(C) Triple stage regulator (D) Adjustable flow regulator 
 ‰ßÖ {ø» öμS÷»mhº  AÝ\›¨¦ Kmh® ^μõUQ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

132. What is the advantages of using a double stage regulator over a
single-stage regulator? 
JØøÓ {ø» öμS÷»mhøμ Âh Cμmøh {ø» öμS÷»mhº 
£¯ß£kzxÁuß |ßø© GßÚ? 

(A) Higher flow rate 
 AvP Kmh ÂQu®  

(B) Greater accuracy in pressure regulation 

 AÊzuzøu JÊ[S£kzxÁvÀ AvP xÀ¼¯®   

(C) Reduced physical size  
 SøÓUP¨£mh EhÀ AÍÄ 

(D) Lower cost 
 SøÓ¢u ö\»Ä   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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133. What is the function of a dirt filter in a single stage regulator? 
JØøÓ {ø» ^μõUQ°À AÊUS ÁiPmi°ß ö\¯À£õk GßÚ? 

(A) To separate oxygen from the gas mixture   
 Áõ² P»øÁ°¼¸¢x BUêáøÚ ¤›UP 

(B) To remove impurities from the gas supply 

 ÷Pì Â{÷¯õPzv¼¸¢x A_zu[PøÍ APØÓ   

(C) To regulate the gas pressure  
 Áõ² AÊzuzøu ^μõUP 

(D) To mix different gases together 
 öÁÆ÷ÁÖ Áõ²UPøÍ JßÓõP P»UP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

134. Where is the lockin pin typically found on a gas welding regulator? 
÷Pì öÁÀi[ öμS÷»mh›À ö£õxÁõP »õUQß •Ò G[÷P EÒÍx? 

(A) On the high pressure gauge  
 E¯º AÊzu AÍÃmiÀ 

(B) On the adjustment knob or dial 

 \›ö\´uÀ SªÌ AÀ»x h¯À «x   

(C) On the gas inlet connection  
 G›Áõ² ~øÇÁõ°À Cøn¨¤À 

(D) On the low pressure gauge 
 SøÓ¢u AÊzu AÍÃmiÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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135. How many pressure reduction stages does a single stage regulator? 
JØøÓ{ø» öμS÷»mh›À GzuøÚ AÊzu® SøÓ¨¦ {ø»PøÍ ö\´QÓx?

(A) One (B) Two 

 JßÖ  Cμsk 

(C) Three (D) Four 
 ‰ßÖ  |õßS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

136. What is the function of a welding flux in aluminium welding? 
A¾ªÛ¯ öÁÀi[QÀ öÁÀi[ L¨ÍUì ö\¯À£õk GßÚ? 

(A) To remove impurities from the weld pool  
 öÁÀm SÍzv¼¸¢x A_zu[PøÍ APØÓ 

(B) To improve the appearance of the weld 

 öÁÀm uμzøu ÷©®£kzu   

(C) To prevent porosity and promote fusion  
 ÷£õ÷μõ]miø¯ ukUP ©ØÖ® CønøÁ FUSÂUP 

(D) To reduce the risk of cracking 
 Â›\À A£õ¯zøu SøÓUP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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137. What is the maximum thickness of metal that can be welded using
the leftward technique in gas welding? 
÷Pì öÁÀi[QÀ Chx¦Ó ~m£zøu¨ £¯ß£kzv öÁÀi[ ö\´¯UTi¯ 
E÷»õPzvß AvP£m\ ui©ß GßÚ? 

(A) Less than 1.5 mm (B) Less than 2.5 mm 

 1.5 mm Âh SøÓÁõÚx  2.5 mm Âh SøÓÁõÚx 

(C) Less than 3.5 mm (D) Less than 5 mm 
 3.5 mm Âh SøÓÁõÚx  5 mm Âh SøÓÁõÚx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

138. Which type of steel is typically used in copper coated filler rods for 
÷Pì öÁÀi[QØS uõªμ §\¨£mh {μ®¦ P®¤PÎÀ ö£õxÁõP G¢u 
ÁøP¯õÚ GLS £¯ß£kzu¨£kQÓx?  

(A) Stainless steel (B) High carbon steel 

 x¸¨¤iUPõu GLS  E¯º Põº£ß GLS 

(C) Alloy steel (D) Mild steel 
 A»õ´ GLS  ÷»\õÚ GLS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

139. Which technique involves commencing the weld on the right hand
side of the seam and working towards the left hand side? 
Á»x ¦ÓzvÀ £ØÓøÁ¨£øuz öuõh[Q Chx £UP® ÷|õUQ ÷Áø» 
ö\´Áøu EÒÍhUQ¯ ~m£® Gx? 

(A) Rightward technique (B) Leftward technique 

 Á»x¦Ó ~m£®  Chx¦Ó ~m£® 

(C) Vertical up welding (D) Horizontal welding 
 ö\[SzxÁøμ öÁÀi[  Qøh©mh öÁÀi[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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140. What is the typical role of a flux-coated filler rod in gas welding? 
G›Áõ² öÁÀi[QÀ L¨ÍUì&÷Põhm L¤À»º μõiß ö£õxÁõÚ £[S 
GßÚ? 

(A) To add extra strength to the weld 
 öÁÀm TkuÀ Á¼ø© ÷\ºUP  

(B) To act as a protective barrier to prevent oxidation 

 BU]á÷ÚØÓzøuz ukUP J¸ £õxPõ¨¦z uøh¯õP ö\¯À£h   

(C) To control the temperature of the weld 
 öÁÀiß öÁ¨£{ø»ø¯ Pmk¨£kzu  

(D) To adjust the gas flow rate 
 ÷Pì Kmh ÂQuzøu \›ö\´¯   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

141. What is the recommended metal thickness range for plasma arc
welding using keyhole technique? 
R÷íõÀ ~m£zøu¨ £¯ß£kzv ¤Íõì©õ BºU öÁÀi[QØS 
£›¢xøμUP¨£k® E÷»õPz ui©ß Áμ®¦ GßÚ? 

(A) Upto 1 mm (B) 1 mm to 3 mm 

 1 mm Áøμ (1 ª«)  1 ª« •uÀ 3 ª« 

(C) 3 mm to 6 mm  (D) 2.5 mm to 25 mm  
 3 ª« •uÀ 6 ª«  2.5 ª« •uÀ 25 ª« Áøμ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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142. What is a common challenge associated with projection welding 
using a moving plate? 
|P¸® umøh¨ £¯ß£kzv ¨öμõöáñß öÁÀi[Shß öuõhº¦øh¯ 
ö£õxÁõÚ \ÁõÀ GßÚ? 

(A) Ensuring consistent pressure  
 {ø»¯õÚ AÊzuzøu EÖv ö\´uÀ  

(B) Maintaining accurate alignment  
 xÀ¼¯©õÚ ^μø©¨ø£¨ £μõ©›zuÀ  

(C) Dealing with distortion of the workpiece  
 £o°h[PÎß ]øuøÁU øP¯õÐuÀ 

(D) Managing weld spatter  
 öÁÀm ì÷£mhøμ {ºÁQzuÀ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

143. What is a benefit of plastic welding? 
¤ÍõìiU öÁÀi[Qß |ßø© GßÚ? 

(A) Increased production costs   
 AvP›zu EØ£zv ö\»ÄPÒ 

(B) Reduced strength and durability  
 SøÓUP¨£mh Á¼ø© ©ØÖ® B²Ò 

(C) Superior strength and reduced cycle time   
 ]Ó¢u Á¼ø© ©ØÖ® SøÓUP¨£mh _ÇØ] ÷|μ® 

(D) Increased material waste  
 AvP›zu ö£õ¸Ò PÈÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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144. Friction welding is done only for _________ joint 
Eμõ´Ä £ØÓøÁ¨¦ •øÓ°À _________ Cøn¨¦ ©mk® CønUP •i²®. 

(A) Lap joint  
 JßÓß«x JßÖ Cøn¨¦ (£kUøP Á\®) 

(B) Tee joint 

 JßÓß «x ©ØöÓõßÖ ö\[Szx Cøn¨¦ 

(C) Corner joint  
 ‰ø» Cøn¨¦ 

(D) Butt joint 
 ÷|¸US ÷|º Cøn¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

145. Plasma arc cutting used gases  
¤Íõì©õ ªßÂÀ öPõsk öÁmh £¯ß£k® Áõ² 

(A) Oxygen (B) Argon 

 BUêáß  BºPõß 

(C) Argon + Hydrogen (D) CO2 
 BºPõß + øímμáß  Põº£ß øh BUøék 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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146. In thermite welding, thermite mixture is in the form of  
öuºªm öÁÀi[QÀ öuºªm P»øÁ  

(A) Aluminium and Iron oxide  
 A¾ªÛ¯® ©ØÖ® C¸®¦ BUøék 

(B) Aluminium and Charcoal 

 A¾ªÛ¯® ©ØÖ® {»UP› 

(C) Ironoxide and Charcoal  
 C¸®¦ BUøék ©ØÖ® {»UP› 

(D) None of the above 
 JßÖªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

147. Steel wool or Iron powder used to start welding  
E÷»õP E¸søh AÀ»x C¸®¦ xPÒ £¯ß£kzv £ØÓøÁ¨¦ xÁ[S® 
£ØÓøÁ¨¦  

(A) Spot welding (B) Seam welding  
 ¦ÒÎ £ØÓøÁ¨¦  öuõhº ¦ÒÎ £ØÓøÁ¨¦ 

(C) Submersed welding (D) Arc welding 
 \¨ö©ºâk £ØÓøÁ¨¦  ªßÂÀ £ØÓøÁ¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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148. Identify the colour code of black and neck white cylinder  
P¸¨¦ {Ózv¾® ©ØÖ® PÊzx £Sv öÁÒøÍ {Ózv¾® EÒÍ Áõ² 
E¸øÍ  

(A) Argon (B) Acetylene  
 BºPõß  A]mi¼ß 

(C) CO2 (D) Oxygen 
 Põº£ßøh BUøék  BUêáß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

149. What is another important function of the molding box in thermit
welding? 
öuºªm öÁÀi[QÀ ÷©õÀi[ £õUêß ©ØöÓõ¸ •UQ¯©õÚ ö\¯À£õk 
GßÚ? 

(A) To prevent oxidation of the molten metal   
 E¸Q¯ E÷»õPzvß BU]á÷ÚØÓzøuz ukUP 

(B) To support the mold during the pouring process 

 öPõmk® ö\¯À£õmiß ÷£õx Aa_PøÍ AvP›UP 

(C) To direct the flow of molten metal   
 E¸Q¯ E÷»õP Kmhzøu C¯USÁuØS 

(D) To reduce the risk of molten metal spills   
 E¸Q¯ E÷»õPU P]ÄPÎß A£õ¯zøuU SøÓUP  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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150. What are the two elements that make up carbon-di-oxide (CO2)? 
Põº£ß øh BUø\øh (CO2) E¸ÁõUS® Cμsk uÛ©[PÒ ¯õøÁ? 

(A) Carbon and Nitrogen (B) Carbon and Hydrogen 

 Põº£ß ©ØÖ® ø|mμáß  Põº£ß ©ØÖ® øímμáß 

(C) Carbon and Oxygen (D) Carbon and Sulphur  
 Põº£ß ©ØÖ® BUêáß  Põº£ß ©ØÖ® P¢uP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

151. The purpose of the gas diffusers are  
÷Pì iL¨³\º £¯ß£õmiß ÷|õUP®  

(A) To send the shielding gas to the nozzle  
 PÁ\ Áõ²øÁ |õ]¾US AÝ¨£ 

(B) To send the shielding gas to the regulator 

 PÁ\ Áõ²øÁ öμS÷»mh¸US AÝ¨£   

(C) To send the shielding gas to the welding m/c  
 PÁ\ Áõ²øÁ £ØÓøÁ¨¦ C¯¢vμzvØS AÝ¨£ 

(D) To send the shielding gas to the job 
 PÁ\ Áõ²øÁ £o¨ö£õ¸ÐUS AÝ¨£   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   440–Welder 
  [Turn over 

69

152. ———— type of current is used in MIG welding. 
MIG öÁÀi[QÀ Gx £¯ß£kzu¨£kQÓx? 

(A) Direct Current (DC) (B) Alternating Current (AC) 

 ÷|μi ªßÚÊzu® (DC)  ©õÖ£mh ªßÚÊzu® (AC) 

(C) Both AC and DC (D) None of the above 
 AC ©ØÖ® DC Cμsk®  ÷©Ø£i GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

153. What is the function of the collect in Gas Tungsten Arc Welding 
(GTAW)? 
÷Pì h[ìhß BºU öÁÀi[QÀ (GTAW) ÷Põö»miß ö\¯À£õk GßÚ? 

(A) To feed the filler material into the weld area. 
 öÁÀm £SvUSÒ {μ¨¦ ö£õ¸øÍ FmkÁuØS.  

(B) To control the gas flow rate during welding. 
 öÁÀi[ ÷£õx G›Áõ² Kmh ÂQu® Pmk¨£kzu.   

(C) To adjust the welding arc length. 
 öÁÀi[ BºU }Ízøu \›ö\´¯.  

(D) To hold and stabilize the tungsten electrode in the welding 
torch. 

 öÁÀi[ hõºa]À h[ìhß ªß•øÚø¯¨ ¤izx {ø»¨£kzu.  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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154. What is the purpose of a flow meter in Gas Tungsten Arc Welding
(GTAW)? 
÷Pì h[ìhß BºU öÁÀi[QÀ (GTAW) Kmh «mh›ß ÷|õUP® GßÚ? 

(A) To measure the voltage of the welding arc.  
 öÁÀi[ BºUQß ªßÚÊzuzøu AÍÂkÁuØS. 

(B) To measure the amperage of the welding arc. 
 öÁÀi[ BºUQß B®£÷μøá AÍÂh.   

(C) To measure the flow rate of shielding gas.  
 PÁ\ Áõ²Âß Kmh ÂQuzøu AÍÂh. 

(D) To measure the temperature of the weld pool. 
 öÁÀk SÍzvß öÁ¨£{ø»ø¯ AÍÂh.   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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155. In Gas Tungsten Arc Welding (GTAW), what does “Post flow” refer
to? 
÷Pì h[ìhß BºU öÁÀi[QÀ (GTAW) “÷£õìm L¨÷Íõ” Gß£x GøuU 
SÔUQÓx? 

(A) The time the shielding gas continues to flow after the welding 
current has been stopped.  

 öÁÀi[ ªß÷Úõmh® {Özu¨£mh ¤ÓS ÷Ph¯ Áõ² öuõhº¢x 
£õ´¢x ö\À¾® ÷|μ®. 

(B) The time taken for the electrode to reach its optimal operating 
temperature. 

 ªß•øÚ¯õÚx Auß EP¢u C¯UP öÁ¨£{ø»ø¯ Aøh¯ 
GkUS® ÷|μ®.   

(C) The duration for which the welding current remains on after 
completing the weld.  

 öÁÀi[ •i¢u ¤ÓS öÁÀi[ ªß÷Úõmh® C¸US® Põ»®. 

(D) The period required for the weld metal to solidify completely 
before removing the weld.   

 £ØÓøÁ¨ø£ APØÖÁuØS •ß, öÁÀm E÷»õP® •Êø©¯õP 
vh¨£kzxÁuØS ÷uøÁ¯õÚ Põ»®.   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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156. What is the main purpose of a sectional view in an engineering
drawing? 
J¸ ö£õÔ°¯À Áøμ£hzvÀ J¸ £Sv £õºøÁ°ß •UQ¯ ÷|õUP® GßÚ?

(A) To show the overall shape of the component. 
 TÖPÎß Jmkö©õzu ÁiÁzøuU Põmh.  

(B) To illustrate the internal details of a component. 
 J¸ TÖPÎß EÒ ÂÁμ[PøÍ ÂÍUSÁuØS.   

(C) To simplify the drawing by reducing the number of lines.  
 Á›PÎß GsoUøPø¯U SøÓ¨£uß ‰»® Áøμ£hzøu 

GÎuõUSuÀ. 

(D) To show the assembly of multiple parts. 
 £» £SvPÎß öuõS¨ø£ Põmh.   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

157. What should a leader line terminate at in an engineering drawing? 
ö£õÔ°¯À Áøμ£hzvÀ ½hº ÷Põk GvÀ •iÁøh²®? 

(A) In mid-air (B) At a point on the drawing 

 |kÁõÛÀ  Áøμ£hzvß J¸ PmhzvÀ 

(C) At an angle (D) At the edge of the drawing 
 J¸ ÷PõnzvÀ  Áøμ£hzvß ÂÎ®¤À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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158. In a generator, mechanical energy is converted into which type of 
energy? 
J¸ öáÚ÷μmh›À, C¯¢vμ BØÓÀ G¢u ÁøP¯õÚ BØÓ»õP 
©õØÓ¨£kQÓx? 

(A) Chemical energy (B) Thermal energy 

 Cμ\õ¯Ú BØÓÀ  öÁ¨£ BØÓÀ 

(C) Electrical energy (D) Potential energy 
 ªß BØÓÀ  \õzv¯©õÚ BØÓÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

159. What is the definition of mass? 
{øÓ Gß£x GßÚ? 

(A) The amount of space an object occupies.  
 J¸ ö£õ¸Ò BUQμªzxÒÍ Chzvß AÍÄ 

(B) The measure of the amount of matter in an object. 
 J¸ ö£õ¸ÎÀ EÒÍ ö£õ¸Îß AÍÂß AÍÄ.   

(C) The force exerted on an object due to gravity.  
 Dº¨¦ Âø\¯õÀ J¸ ö£õ¸Îß «x ö\¾zu¨£k® Âø\. 

(D) The speed at which an object moves. 
 J¸ ö£õ¸Ò |P¸® ÷ÁP®.   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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160. What is the fundamental unit of length in the international system

of units (SI)? 

\ºÁ÷u\ A»SPÎß (SI) }Ízvß Ai¨£øh A»S GßÚ? 

(A) Meter (B) Centimeter 

 «mhº  ö\ßi «mhº 

(C) Kilogram (D) Second 

 Q÷»õ Qμõ®  CμshõÁx 

(E) Answer not known 

 Âøh öu›¯ÂÀø» 

161. The presence of which element is increased in a carburizing flame? 

Põº£øμ][ w ¤Ç®¤À Guß AÍÄ AvP©õP C¸US®? 

(A) Oxygen (B) Nitrogen 

 BUêáß  ø|mμáß 

(C) Carbon (D) Hydrogen 

 Põº£ß  øímμáß 

(E) Answer not known 

 Âøh öu›¯ÂÀø» 
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162. What is the angle of oxy-acetylene cutting nozzle? 
BUê&A]mi¼ß |õ]¼ß ÷Põn® GßÚ? 

(A) 90° (B) 110° 

(C) 120° (D) 140° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. Acetylene gas is the product of chemical reaction between calcium
carbide and 
PõÀ]¯® Põºø£k RÌPshÁØÔÀ GuÝhß GvºÂøÚ ¦›¢x A]mi¼ß 
Áõ² HØ£kQÓx. 

(A) Air (B) Water 

 PõØÖ  uspº 

(C) Kerosene Oil (D) Lubricating Oil 
 ©sönsön´  ¿¤›÷Pmi[ B°À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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164. What is oxidizing flame? 
BU]øh][ ¤÷Í® Gß£x GßÚ? 

(A) High quantity of Oxygen and low quantity of Acetylene  
 AvP PÚAÍÄ BUêáÝ®, SøÓ¢u PÚAÍÄ A]mi¼Ý® 

(B) Equal proportion of Oxy–Acetylene 

 \© PÚAÍÄ BUêáÝ®, A]mi¼Ý®  

(C) Low quantity Oxygen, High quantity of Acetylene  
 SøÓ¢uÍÄ BUêáÝ®, AvP PÚAÍÄ A]mi¼Ý® 

(D) None of this above 
 ÷©ØSÔ¨¤mh JßÖ® CÀø»   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

165. Which type of gas flame is to be used for Stelliteing purpose in
Oxy–Acetylene gas welding? 
BU] – A]mi¼ß ÷Pì öÁÀi[QÀ ìöh¼mi[ ÁøP ÷Áø»US G¢u 
ÁøP w¨¤Ç®ø£ £¯ß£kzxÁõ´? 

(A) Oxidising flame  
 BU]øh][ w¨¤Ç®¦ 

(B) Carburizing flame 

 Põº¦øμ][ w¨¤Ç®¦ 

(C) Neutral flame  
 |k{ø» w¨¤Ç®¦   

(D) Slightly oxidizing flame 
 ]ÔuÍÄ BU]øh][ w¨¤Ç®¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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166. In Oxy Acetylene gas welding which gas flame is to be used for
welding of Stainless Steel? 
BU]–A]mi¼ß ÷Pì öÁÀi[QÀ ìöh°ß»ì ìjø» öÁÀk ö\´¯ 
G¢u ÁøPz w¨¤Ç®¦ £¯ß£kzu¨£kQÓx? 

(A) Oxidizing flame  
 BU]øh][ w¨¤Ç®¦ 

(B) Carburizing flame 

 Põº¦øμ][ w¨¤Ç®¦ 

(C) Neutral flame  
 |k{ø» w¨¤Ç®¦   

(D) Slightly carburizing flame 
 ]ÔuÍÄ Põº¦øμ][ w¨¤Ç®¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

167. ––––––––––– is occurring at the tip of the welding torch is the
instantaneous retardation of the flame. 
––––––––––– Gß£x öÁÀi[ hõºa •øÚ°À HØ£k® w¨¤Ç®¤ß 
Pn÷|μ ¤ßÚøhÄ BS®. 

(A) Backfire (B) Flashback 

 ¤ßw  ¨Íõì ÷£U 

(C) Combustion (D) Ignition 
 G›uÀ  £ØÓ øÁzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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168. Why is Oxy–Acetylene compound widely used in gas welding? 
÷Pì öÁÀi[ ö\¯À£õmiÀ BUê–A]mi¼ß P»øÁ Hß £μÁ»õP¨ 
£¯ß£kzu¨£kQÓx? 

(A) It gives more economical  
 Cx AvP ]UPÚzøu AÎUQÓx 

(B) It gives the cleanest process 

 Cx y´ø©¯õÚ ö\¯À•øÓø¯ ÁÇ[SQÓx   

(C) Complete combustion is  possible  
 •Êø©¯õÚ G›¨¦ \Uv¯õS® 

(D) It gives highest temperature as compared to other combination
 ©ØÓ P»øÁø¯ J¨¤k®÷£õx Cx AvP öÁ¨£ {ø»ø¯ AÎUQÓx

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

169. What is the flame temperature of Oxy–Acetylene flame? 
BU] A]mi¼ß w¨¤Ç®¤ß öÁ¨£ {ø» GßÚ? 

(A) 3100 ºC to 3300 º C (B) 2700 º C to 2800 º C 

 3100 ºC •uÀ 3300 º C  2700 ºC •uÀ 2800 º C 

(C) 1800 º C to 2200 º C (D) 1825 º C to 1875 º C 
 1800 ºC •uÀ 2200 º C  1825 ºC •uÀ 1875 º C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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170. While doing cutting operations in Oxy–Acetylene the inner cones of 
the preheat flames are approximately ––––––––––– above the 
surface of the metal to be cut? 
BU] – A]mi¼ß ÷Pì Pmi[ ö\´²®ö£õÊx •ßöÁ¨£¨£kzxÁuØS 
£¯ß£k® w¨¤Ç®ø£ Pmi[ ö\´¯¨£h C¸US® ¤÷ÍmiØS ÷©À 
GÆÁÍÄ yμzvÀ ¤iUP ÷Ásk®? 

(A) 1–2 mm (B) 2–3 mm 

(C) 4–5 mm (D) 5–6 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

171. Acetylene gas cylinders have the maximum Storage pressure
capacity is  
A]mi¼ß Áõ² E¸øÍPÎÀ ÷\ªUP¨£k® Áõ² AvP£m\©õP 
——————— AÊzuzvÀ C¸US®. 

(A) 7 m3 (B) 150 kg/cm2 

 7 m3  150 kg/cm2 

(C) 3.5 m3 (D) 15 kg/cm2 
 3.5 m3  15 kg/cm2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

172. In which capacity commonly oxygen cylinders are used? 
ö£õxÁõP¨ £¯ß£k® BUêáß Áõ² E¸øÍPÒ GßÚ öPõÒÍÍÄ 
öPõskÒÍÚ? 

(A) 6 m3 (B) 7 m3 

 6 m3  7 m3 

(C) 8 m3 (D) 9 m3 
 8 m3  9 m3 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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173. What is the use multi Hole Nozzle? 
£» xøÍ öPõsh |õ]¼ß £¯ß GßÚ? 

(A) Gas Welding (B) Gas Cutting 

 ÷Pì öÁÀi[  ÷Pì Pmi[ 

(C) Brazing (D) Silver Soldering 
 ¤÷μ][  ]ÀÁº \õÀh›[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

174. What is the use of oxygen cutting lever in gas cutting? 
G›Áõ² öÁmk® ÷£õx BUêáß öÁmk® ö|®¦÷Põ¼ß £¯ß£õk 
GßÚ? 

(A) melt the metal (B) cut the metal 

 E÷»õPzøu E¸UP  E÷»õPzøu xsiUP 

(C) weld the metal (D) clean the metal 
 E÷»õPzøu £ØÓøÁUP  E÷»õPzøu y´ø©£kzu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

175. How much should be the thickness of the plate in oxy-acetylene 
cutting process? 
BUê&A]mi½ß öÁmk® ö\¯À£õmiÀ E÷»õPzvß Pn® GÆÁÍÄ 
C¸UP ÷Ásk®? 

(A) 1 mm to 2 mm (B) 2 mm to 3 mm 

 1 ª.«. •uÀ 2 ª.«  2 ª.«. •uÀ 3 ª.«. 

(C) 3 mm to 3.5 mm (D) above 4 mm 
 3 ª.«. •uÀ 3.5 ª.«  4 ª.«.US ÷©À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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176. Which gas in commonly used for low cost purpose in Gas welding? 
÷Pì öÁÀi[QÀ SøÓ¢u ö\»ÂÀ ö£õxÁõP £¯ß£kzu¨£k® Áõ² Gx?

(A) Argon (B) Helium 

 BºPõß  ï¼¯® 

(C) Acetylene (D) Neon 
 A]mi¼ß  {¯õß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

177. ——————— is the material that melts during cutting and
adheres to the bottom edge of the cut face. 
——————— Gß£x öÁmk® ÷£õx E¸S® ©ØÖ® öÁmh¨£mh 
•Pzvß RÌ ÂÎ®¤À JmiU öPõsi¸US® ö£õ¸Ò BS®. 

(A) Kerf (B) Dross 

 Kerf  Dross 

(C) Crater (D) Dual flow 
 Crater  Dual flow 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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178. The purpose of oxygen in oxy-fuel cutting is  
BUê&L¨³¯À Pmi[QÀ BUêáß Áõ² P»¨£uß ÷|õUP®  

(A) To provide a shielding 
 PÁ\zøu HØ£kzu  

(B) To act as fuel 

 G›ö£õ¸ÍõP¨ £¯ß£h   

(C) To prevent oxidation 
 x¸¨¤izuø»z ukUP 

(D) To support cumbustion and assist in cutting 
 Pmi[ ö\´¯ HxÁõP G›ÁuØSz xøn¦›¯   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

179. Oxy-fuel gas cutting is almost selected to cut mild steel plates upto
——————— mm 
Ba]&L¨³¯À ÷Pì Pmi[ ——————— Áøμ°»õÚ GLøP Pmi[ 
ö\´¯ £¯ß£kzu¨£kQÓx. 

(A) 25.4 mm (B) 150 mm 

 25.4 mm  150 mm 

(C) 300 mm (D) 600 mm 
 300 mm  600 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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180. Which type of Gas Flame can be conveniently used for gas welding
both ferrous and non-ferrous metal? 
C¸®¦ ©ØÖ® C¸®¦ AÀ»õu E÷»õPzøu ÷Pì öÁÀi[QØS G¢u 
ÁøP¯õÚ Áõ² _høμ Á\v¯õP £¯ß£kzu»õ®? 

(A) Air-Acetylene Flame (B) Oxy-Hydrogen Flame 

 PõØÖ A]mi½ß _hº  BUê&øímμáß _hº 

(C) Oxy-Acetylene Flame (D) Oxy-LPG Flame 
 BUê A]mi½ß _hº  BUê&GÀ¤â _hº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

181. What is the melting point of Aluminium oxide? 
A¾ªÛ¯® BUø\iß E¸S {ø» GßÚ? 

(A) 1930°C (B) 659°C 

(C) 1083°C (D) 950°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

182. What is the melting temperature of Brass? 
¤zuøÍ°ß E¸S{ø» GßÚ? 

(A) 650°C (B) 419°C 

(C) 950°C (D) 1083°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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183. Why the divergence allowance necessary in copper butt joint? 
Põ¨£º £m áõ°ßiÀ ÷uøÁ¯õÚ ÷ÁÖ£õk öPõk¨£Ú? 

(A) It controls distortion   
 Cx ]øuøÁU Pmk¨£kzxQÓx   

(B) It controls penetration  
 Cx Fk¸Áø»U Pmk¨£kzxQÓx 

(C) Copper has high thermal conductivity   
 Põ¨£º AvP öÁ¨£ PhzxzvÓß öPõshx   

(D) Copper has high electrical conductivity   
 Põ¨£º AvP ªß PhzxzvÓß öPõshx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

184. In gas welding what type of flame is used for cast iron? 
Áõº¨¤¸®¦ Áõ² öÁÀi[QØS GßÚ ÁøP¯õÚ L¨÷Í® 
£¯ß£kzu¨£kQÓx 

(A) neutral flame   
 {³mμÀ L¨÷Í®   

(B) oxidizing flame  
 BU]øh][ L¨÷Í® 

(C) carburizing flame   
 Põº£øμ][ L¨÷Í®   

(D) flame with excess of oxygen  
 AvP¨£i¯õÚ BUêáß öPõsh L¨÷Í® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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185. Which of the following elements is added to steel used at very low
temperature 
ªPU SøÓ¢u öÁ¨£{ø»°À £¯ß£kzu¨£k® GLSUS ¤ßÁ¸® 
TÖPÎÀ Gx ÷\ºUP¨£mkÒÍx 

(A) Manganese (B) Chromium  
 ©õ[PÜ_  S÷μõª¯® 

(C) Nickel (D) Molybdeneum  
 {UPÀ  ©õ¼¨iÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

186. An electrode code as per Indian Standard contains 2 letters followed
by a 4 digit number. What is the second letter indicate 
C¢v¯ ìhõshºkß 2 GÊzxUPÎß£i G÷»õU÷μõiß SÔ±k ©ØÖ® 

4 C»UP Gs SÔ±miÀ EÒÍ CμshõÁx GÊzx GøuU SÔUQßÓx? 

(A) Welding position  

 öÁÀi[ {ø»   

(B) Tensile strength  
 CÊÂø\ Á¼ø© 

(C) Type of covering    
 §a]ß ÁøP   

(D) Welding current and voltage condition  
 öÁÀi[ ªß\õμ® ©ØÖ® ÷ÁõÀ÷hä {ø»  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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187. Which type of material used in cellulosic electrode in welding? 
öÁÀi[QÀ ö\À¾÷»õ]U G»Um÷μõiÀ G¢u ÁøP¯õÚ ö£õ¸Ò 
£¯ß£kzu¨£kQÓx? 

(A) Titanium dioxide (B) Iron powder 

 øhhõÛ¯® øh BUø\k  A¯ºß £Ähº 

(C) Copper (D) Wood pulp and flour  
 Põ¨£º  ©μU TÌ ©ØÖ® ©õÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

188. Hydrogen coated electrodes are coated with 
øímμáß §\¨£mh G»Umμõk –––––––––– §\¨£mhx. 

(A) Calcium carbonate (B) Calcium chloride  
 PõÀ]¯® Põº£÷Úm  PõÀ]¯® S÷Íõøμk 

(C) Calcium hydroside  (D) Calcium permanganate 
 PõÀ]¯® øím÷μõø\k  PõÀ]¯® £º©õ[P÷Úm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

189. What is the percentage of carbon in medium carbon steel? 
|kzuμ Põº£ß ìj¼À Põº£Ûß \uÃu® GßÚ? 

(A) 0.05% to 0.30% (B) 0.05% to 0.8% 

(C) 0.30% to 0.6% (D) 0.6% to 1.2% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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190. How many types of consumable electrodes are classified? 
~PºÄ G»Um÷μõk GzuøÚ ÁøP¯õÚ G»Um÷μõkPÍõP 
ÁøP¨£kzu¨£kQßÓÚ? 

(A) 3 (B) 6 

(C) 2 (D) 1 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

191. Which electrode is used for joining heavy cross section of metals
without edge preparation? 
ÂÎ®¦ u¯õ›¨¦ CÀ»õ©À E÷»õP[PÎß PÚ©õÚ SÖUS öÁmkPøÍ 
CønUP G¢u G»Umμõk £¯ß£kzu¨£kQÓx? 

(A) Low Hydrogen Electrode 
 SøÓ¢u øímμáß G»Um÷μõk  

(B) Deep Penetration Electrode 

 BÇ Fk¸Ä® G»Umμõk   

(C) Underwater welding and cutting electrode  
 }¸UPi°À öÁÀi[ ö\´²® ©ØÖ® öÁmk® G»Umμõk 

(D) Rutile electrode 
 ¹møhÀ GÀUmμõk   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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192. What type of wax layer used for protect electrode in underwater
welding and cutting? 
}¸UPi°À öÁÀi[ ©ØÖ® Pmi[ ö\´ÁuØS GßÚ ÁøP¯õÚ ö©ÊS 
£õ¼][ G»UmμõkPøÍ Põ¨¦ ö\´QÓx? 

(A) Paraffin wax (B) Lacquer wax 

 £õμ¤ß ö©ÊS  »õUÁº ö©ÊS 

(C) Soft wax (D) Edible wax 
 ö©ßø©¯õÚ ö©ÊS  EsnU Ti¯ ö©ÊS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

193. Which type of arc length produces deep penetration weld? 
G¢u ÁøP¯õÚ BºU ö»ßz BÇ©õÚ Fk¸Áø»® EshõUSQÓx? 

(A) Long Arc length (B) Short Arc length 

 }Í©õÚ BºU ö»ßz  SÖQ¯ BºU ö»ßz 

(C) Medium Arc length (D) Too Long Arc length 
 |kzuμ BºU ö»ßz  ªP }Í©õÚ BºU ö»ßz 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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194. What is the advantage to use Iron powder? 
C¸®¦ yÒ G»Um÷μõk E£÷¯õQ¨£uß •UQ¯©õÚ |ßø©PÒ GßÚ? 

(A) To avoid crack in the joint  
 áõ°ßmiÀ QμõU HØ£kÁøu ukzuÀ 

(B) To increase flux coating 

 ¤ÍUì ÷Põmiß \Uvø¯ AvP›UP   

(C) To decrease welding time  
 öÁÀi[øP •iUS® ÷|μzøu SøÓUP 

(D) To conduct electrode easily to passing current 
 ÂøμÁõP ªß\õμzøu G»Um÷μõm ‰»® PhzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

195. Which device is used to remove moisture content of an electrode? 
G¢u ÁøP¯õÚ \õuÚ® G»Um÷μõm Dμ¨£uzøu APØÓ EuÄQÓx? 

(A) Steam oven (B) Electrode Drying oven 

 }μõÂ Ak¨¦  G»Um÷μõk E»ºzx® Ak¨¦ 

(C) Convection oven (D) Microwave oven 
 öÁ¨£\»Ú® Ak¨¦  ~snø» Ak¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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196. Which is used to preheat the metal above 25mm thickness plate? 
25mm  PÚ® öPõsh E÷»õPzøu •ßöÁ¨£kzxÁuØS £¯ß£kzxÁx 
Gx? 

(A) By using flame (B) By using charcoal furnace 

 wa_hº  P› Eø» 

(C) By using Induction furnace (D) By using crucible furnace 
 yshÀ Eø»  ]¾øÁ Eø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

197. Heating of the joint before or during welding to a certain
temperature is  
öÁÀi[ ö\´ÁuØS •ß AÀ»x öÁÀi[ ÷£õx SÔ¨¤mh öÁ¨£ 
{ø»US öÁ¨£¨£kzxÁx 

(A) Post Heating (B) Pre Heating 

 ¤ß öÁ¨£¨£kzxuÀ  •ß öÁ¨£¨£kzxuÀ 

(C) Hardening (D) flame Hardening 
 PiÚz ußø©  wa_hº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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198. How do you check interpass temperature in welding? 
öÁÀi[QÀ CøhöÁÎ öÁ¨£{ø»ø¯ GÆÁõÖ \›£õºUP¨£kQÓx? 

(A) By using crayons  
 Q÷μ¯ßPøÍ¨ £¯ß£kzxÁuß ‰»®  

(B) By using Graphite  
 QμõLø£m £¯ß£kzxÁuß ‰»® 

(C) By using Magnetic powder  
 Põ¢u yÒ £¯ß£kzxÁuß ‰»® 

(D) By using LCD 
 LCD £¯ß£kzxÁuß ‰»®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

199. In welding, the purpose of preheating is 
öÁÀi[QØS •ß ÷Áø»ø¯ •ß Tmi÷¯ `hõUSÁuß ÷|õUP® 

(A) To increase the extent of penetration 
 Fk¸Âß AÍøÁ AvP›UP 

(B) To minimize the porosity problems  
 ö£õμ]mi ¤μa\øÚPøÍ SøÓUP   

(C) To reduce the rate of cooling of the weld metal  
 SÎ¹mk® E÷»õPzvß ÃuzøuU SøÓUP 

(D) To increase the metal deposition rate 
 E÷»õP £iÄ ÂQuzøu AvP›UP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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200. What is the preheating temperature of medium carbon steel? 
«i¯® Põº£ß ìj¼ß •ß öÁ¨£{ø» GßÚ? 

(A) 90ºC to 100ºC (B) 180ºC to 350ºC 

(C) 300ºC to 600ºC (D) 600ºC to 1000ºC 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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